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Read the following passage carefully and answer

the questions (56-60):

Communicative competence can be developed by both

mmplicit leaming and explicit leaming processes. The

first one is a natural and subconscious process. But the
second one process is mostly dependent on formal
leaming especially on the known rules of language.

Conscious use of language is the significant feature of

explicit learning. On the other hand, the use of

ianguage by the native speakers is significant in
explicit leaming,

31. ‘Implicit’ means ——

A. cryptic B. virtually contained
C. mysterious D. none

32. The headline of the passage may be
acquisition of language
A. acquisition of language
B. conscious learning of language
C. skills of language
D. ways of communicative competence
33. Explicit learning requires
A. subconscious mind B. grammar
C. spontaneous use of language D. none

34.

36.

37.

38.

39.

40.

41.

42,

43.

44.

45.

46.

Which one is correct?

A. Implicit leamers must be a native speaker.
B. Implicit leamers may be a native speaker.

C. both D. none

What does ‘communicative competence’ refer?
A. ability to use language appropriately

B. Ability to make connection

C. Ability to make relationship

D. Ability to speak fluently

What is the 4™ lesson outcome of ‘A
Myanmar Family’?

A. To compare life in two countries

B. To discuss a picture

C. To leamn an informal letter

D. To read an extract from a letter

‘The Waste Land’ is
A.anessay B.adrama C.anovel D. a poem
Many of them have — their pastoral live
and have become wage earners in cities.
A.taken B. givenup C.left D. abandoned

T IS IS fReem-few Txaafer wrafd?

A. As a lecturer Bangabondhu was second to none.
B. As a speaker Bangabondhu was second to none.
C. As an orator Bangabondhu was second to none.
D. As a narator Bangabondhu was second to none.
When did both husbands and wives work in
the fields outside the house?
A. Industrial period

B. Feudal period

C. Pre-industrial feudal period
D. Modem period

The judge insisted that the jury
immediately.

A.retums B. retun C. returned " D. will retum
Which is not true for the introverts?

A. They are usually shy.

B. They like to talk much.

C. They are not outgoing in nature

D. They are not very noisy

To 102-Empire State Building in Manhattan
was the tallest building in the world till —.
A.1931 B.1971 C.1970 D. 1996
World Heritage Site is recognized by an
international committee of UNESCO comprising

a verdict

A. 7 members B. 15 members

C. 21 members D. 25 members
When one is ‘pragmatic’ he is being —

A. wasteful B. productive C. practical D. fussy
Entrepreneur : profits :: Labourer ——.

A. employees B. wages C. complaints Dunion

W
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47.
48.

49.
50.

A preposition used with a verb is an —

A. adjective B. adverb C. appositive D. ‘none
Which one is correct sentence?

A. This is an unique case.

B. This is a unique case.

C. This is a very unique case.

D. This is the most unique case.

What are you so angry ¥

A.about  B.at C. with D. for
‘Parcel’ means

A. quarrel B. piece of land

C. postage of unobstructed view D. postage

65.
66.

67.
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51. The correct spelling is — 68. I G wIfF®
A. questionnaire B. questionaire At @ aﬁma :ma@f A
C. questionire D. questionnair B.
52. ut a lot emphasis on the unity of the family. C. oF® @ q@%m mﬂzsf
A. The Japanese B. The Germans D. 229 ¢ Wi Wﬁm
. TSR A
C. The French D. The Chinese. = | 69 3033 AMeMa ITT ST 17 (I FHBS TCA?
53. Who is the author of several books on wildlife? A. SRR (W &) B. CIRS1S (SCREET)
A. Hazlitt B. Johnson C. Tt (o) D. SR (M)
C. George Laycock D. Herrick 70 @‘F@ mvﬁ ST TGE?
54. The antonym of ‘prolific’ is ¥ ; . N .
A. 3T B. e C. ARRRA D. IBrRG
A. unworkable B. backward B8
C. controversial D. barren 1. aﬂ% o St
55. Which word is the determiner in the A. i B. 3T Wi
sentence will it take much time?” C. fes 3 D. Srwif &
A. will B.take C.much D.time 72. WATICAR TR CIF1BY T0R-
56. Which one is active of ‘He is not known here? AL TIEERW B. &re &3
A. He is known here. C. = ey D. snupfes
B. Nobody knows him here. 73. ‘@6 WX @G’ (T (FHE o7 W
C. Everybody lnows him here. A. e @15 B. & 15
D. Somebody knows him here. C. &N SmrTe D. (&= IFAPBET
57. What is the correct synonym of ‘indigent’? 74. W IER TR G FE?
A. destitute B. comfortable A PR wEEs B, 33 Qf
C. wealthy D. affluent C. rEgw STt D. &= @eifar
58. What is the verb of the word ‘response’? 75. <fers 86t IR W W/ IW/ @ RfABA I6!
A. respons B. responsive A= on
C. respond D. responsively A 0° « @;; K fa A C. 50° D o
59. In ‘I wandered lonely <as a cloud’ the 0L Bt € % 230 - %0 Skl
daffodils gave the poet 76. 30 S [T w°rS-
A. a great deal of pleasure B. very pleasure A9 B. 23/4 C.3¢f/s D.ame
« C. many pleasure D. much pleasure 77. Tt B3 Fes vaCE FoTT -af T TRATH
60. In the poem ‘Ozymandias’ who calls A.3e B.e3w  C.BWM D.om
Ozymandias ‘king of kings’? 78. ITLOS 97 w3 wea FNA?
A. The traveller B. The speaker A.@ B.@we C R D. fewm
C. Ozymandias himself = D. Other kings 79. 0d¢ AR TEANSCS RTIA TR AW &7
afoge A. & ferm= B. B e
HAIYRAY @ 1| (¢
. C. ST (eow D. Gt &Tm
(TR & A T (it ) 80 f&m%mmmmfim
61. TITEFS TF CSAT FHPB! (FIN AR ? : A. 732 B.
A .3 B. affmfos GTT3fs o o ity
C. arid iz D. frg 7fke) =g '
62. AP WIRA AR o PRI <FETER ﬁRSQ
WY T A (= g RsteR ofewma &)
A. TRIfEER I B.‘maﬁm 61. PR = A2
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A.fews B.ofm  C.3rfBs  D. sfra ko D. @R A
64. IMEA AfS AT 1 TS IHG? 63. ‘frwx’ *wE
A. SRA IR F— B. (@6 Gieat A.XPEILCTGR B welen
C. 9 rprey &t D. 3 gvig C. o &= D. =12+
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English (Compulsory for all)
Fill in the gap with the best alternatives:
The film was directed in the director's usual — style,
A. confusion B. idiosyncratic
C. personifying D. purifying
The idiom "A stitch in times nine'-refers
the importance of—.
A. Saving lives B. timely action
C. saving time D. time tailoring
He lives in _a suburb_of Kushtia. The
underlined phrase is—
A. A main phrase B. a noun phrase
C. an adjective phrase D. an adverbial phrase
Choose the wrong sentence—
A. Neither you nor I am in a sound position
B. Laziness is detrimental for success.
C. He begged the favor of my granting him leave.
D. Your action is not in conformity with the law.
Choose the correct sentence-
A. The mater was informed in the police.
B. The matter had been informed of the police.
C. The police were informed of the matter.
D. The police was informed of the matter.
The word "amenable" means-
A. Movable. B. Durable.
C. Agreeable. D. Answerable.
Which one is the right spelling?
A. disciplin B. dicipline
C. disciplinc .D. discipline
Identify the odd word from the following words-
A. intimidate B. formalize
C. frighten D. terrify
Translate into English...... : &7 <& 791% T2 57 |
A. He has been a weak
B. He has been ill a weak
C. He has been ill for a weak
D. He has been ill during a weak
Translate Bengali to English : @tz 3ng! st |
A. His house is in Pabna
B. He comes from Pabna
C. Pabna his home
D. There his house in Pabna
Read the following passage with care and select the
appropriate answer to the questions from (11 to 15.):
One of the great delusions of modem time is the
prevailing belief that we are more civilized than our
ancestors. At no other period in the history of
mankind has the world 'civilization' been so often
misused and misunderstood. It is not in the

01.

02.

03.

04.

0s.

06.

07.

08.

09.

10.

abundance of material alone that civilization lies.

Neither does it consist of the advance of scientific
knowledge, however amazing that may be. The
inventions and discoveries of science have
undoubtedly brought unheard of blessing and
comfort to us. But the essential quality of
civilization lies in the spirit of man, in his attitude to
himself, to his fellowmen and to life as a whole.
Looking everywhere around us today, you will find
that man has made no progress since the dawn of
history, in his attitude towards his fellowmen. One
all the highest pillar in the cities of the world, you
will find the figure of a conqueror or a general
solder. We know far more about our killers and
destroyer than about our saviors and saints. The
heroes of war are the heroes of the world.

11. What have scientific inventions given to
mankind?

A. Wealth B. Civilization

C. Blessing and comforts

D. Destructive weapons.

Does the writer think that we are more
civilized than our ancestors?

A. Yes B. No.

C. There has been no perceptible change.

D. The changer, if any, cannot be determined.
What is civilization according to the author?
A. Possession of goods

B. Inventions and discovery

C. Way of human behavior, thought and
feeling

D. Another form of influence.

Who should be our heroes?

A. Saints and saviors B. Conqueror

C. Great man of history  D. Politician

A vital quality of civilization depends upon-
A. Competitive spirit of man

B. Attitudes of man towards his fellowman

C. Man's desire to conquer nature

D. Management of resources

What is the synonym of 'Jovial'?

A.Jolly B.Gay C.Jealous D.Happy
Select the correct linking word to fill in the gap.
'Read attentively you should fail in the
examination."

A. or B.until  C. lest D. lilt
Translate into English : R 77 wf wg pR 3@ 7 |

A. I will rather die than steal.

B. I am rather die than steal.

C. I die than steal.

D. I would rather die than steal.

Selected the pair that best expresses the
relationship-

A. Animosity: Hostility B. Dilemma : Peaceful
C. Obstacle : Progress D. Diligent: Lazy

12.

13.

14.

15.

16.
17.

18.

19.

hT
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20.

21.

22,

23.

24.
2S.

26.

27.

28.

29.

30.

31.

32.

33.

34.

3s.

Translate into English : fAtex e 77 whe |
A.Mind your self work. B. Mind your self job.

C. Mind your own job. D. Mind your own business.
The synonym of " Genesis" is-

A. Introduction B. Preface

C. Beginning D. Foreword

Opyasis said, "I am going to Landon" is-

A. indirect narration B. indirect speech

C. a statement. D. a noun phrase.
Change the form of voice: My father loves me.
A. I'loved my father

B. I was loved by my father.

C. I were loved by my father.

D. I am loved by my father.

Which one of the following is not collective noun?
A.Class B. Audience C.Peer D.Public
Subject verb agreement refers to-

A. Person only . B. Number, person and gender
C. Number and gender D. Number only
Choose the correct spelling-

A. Achievement B. Achievemant
C. Acievement D. Achevement
Choose the right passive form of "Who will pay
him?

A. Who will be paid him?

B. Who would be paid him?

C. Whom he will be paid?

D. By whom will he be paid?

'"Theology' is a term related to—

A. Study of education B. Study of vote

C. Study of religion ~ D. Study of politics
What is the verb of error? \
A.Errard B.Errant C. Err D. Erratic

The correct spelling is—

A. Battoir B..Abattoir

C. Abottoire D. Abattoier
fomfwm (egm aftey >t &)
TS 31 IS = 3T

A. 7T = B. ¥'&R 4@l
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D. w1 3% swe~fez=

29

Admission Tech



Admission Tech

48.

49.

52.

53.

54.

55.

56.

57.

S8.
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C. cggen D. g

75.

AR IR (IR AP T L TG 7B +?
A. oA wEfes@ B. fFawwsia
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10.B 11.C 12.C 13B 14.C 15.C 16.A 17.A 18.C
19.D 20.A 21.C 22:A 23.D 24.C 25.B 26.A 27D
28.C 29.C 30.B 31.C 32.C 33.C 34.A 35.D 36.C
37.A 38.C 39.A 40B 41.A 42.B 43B 44B 45C
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119.C 120.A 121.D 122.B 123.A 124.A 125A
126.A 127.D 128.B 129.B 130.B
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English (Compulsory for All) :
01. Choose the best alternative for filling the gap.

Noise pollution can’t be —
A. easy, avoid B. easy, avoided
C. ear y, avoid D. easier, avoided
02. ‘Pass away’ means —?
A. Disappear B. Die C. Erase D. Fall
03. If a person cannotstop taking drugs, here she is—?
A. Attached to them B. Committed to them
C. Addicted to them D. Devoted to them
04. Which one is the correct synonym of ‘Manipulate’?
A. Mortgage B. Manage
C. Display D. Gloomy
0S. The correct passive of “Does he write a letter?”
A. Was a letter written by him?
B. Is a letter written by him?
C. Is a letter to be written by him?
D. Has a letter been written by him?
06. Which is the correct sentence?
A. I wish I was in your shoes
B. I wish I got into your shoes
C. I wish I were in your shoes
D. I wishI get into your shoes
07. Which of the following sentences is correct?
A. He is comparatively better today.
B. He is good today than before.
C. He is better today.
D. He is best today than yesterday.
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08. Passive form of “Take care of your health”.
A. Let your health taken care.
B. Let vour health be taken care of.
C. Let vour health taken care of.
D. Health 1s taken care by you.
09. Which of the following is a singular form?

A. Data B. Agenda C. Criteria  D. index
10. Worst is the superlative degree of —?
A Wicked .Bad C.Wrong D.Well
11. Fill in the blank: The president ascended — the bill.
A at B. with C.to D. into

12.  Choose the pair of words which shows similar

relationship to “Butter: Baker”.

A. Words: Writer  B. Laws : Policeman

C. Joy: Emotion D. Chalk : Blackboard
Read the following passage and answer questions (13-17):
To rejoice in life, to find the world beautiful and
delightful to live in, was a mark of the Greek spirit which
distinguished it from all that had gone before. It is a vital
distinction. The joy of life is written upon everything the
Greeks left behind, and they who leave it out of account
fail to reckon with something that is of first importance
in understanding how the Greek achievement came to
pass in the world of antiquity. It is not a fact that jumps
to the eye for the reason that their literature is marked as
strongly by sorrow. The Greeks knew to the full how
bitter ﬁlfe 1s as well as how sweet. Joy and sorrow,
exultation and tragedy, stand hand in hand in Greek
literature, but there is no contradiction involved thereby.
Those who do not know the one do not really know the
other either. The Greeks were keenly aware, terribly
aware, of life’s uncertainty and immense of death. Over
and over again they emphasize the brevity and the failure
of all human endeavor, the swift passing of all that is
beautiful and joyful. But never, not in their darkest
moments, do they loss their taste for life. It is always-a
wonder and a delight the world a place of beauty, and
they themselves rejoicing to be alive in it.
13. ‘Distinguished’ means:

A. Dignified B. Important

C. Differentiated D. Venerable
14. ‘World of antiquity’ means:

A. Stressed world B. Ancient world

C. Antic world D. World of antiques
1S. Which word or phrase is similar in meaning of

‘Exultation’?

A. Excitement and happiness B. Being exulted

C. Exhaustion D. Tired happiness
16. Choose the sentence which best explains ‘Life’s

uncertainty’.

A. We don’t know what will happen in future

B. We don’t know what life means

C. We don’t know what happens after life

D. We don’t know the certainty of life
17. The world ‘keenly’ can be substituted by—?

A. Eagerly B. Acutely

C. Unnecessarily D. Unfortunately
18. What is the meaning of “A round dozen?

A. Meaningless B. Certainly

C. Meaningful D. None of them

19. Fill in the gap. I have no aptitude — music.

A. for B.to .of D.in
20. Which one is reflexive pronoun?
A.He B. Each . Myself D. Who

21. *Justice delayed, justice denied” was stated by— ?
A. Goldstone B. Shakespeare
C. Emerson D. Disrae Lile

22,

23.

24.

25.

26.

27.
28.

29.

30.

31.

32.

33.

34.

3s.

36.

37.

38.

Translate into English questions (22-25):
S @51 TR A AT |
A. Icould nothelp do it. B.Icould not help doing it.
C. I could not help to do it. D. I could not but did it.
AT I ! I6TS T A1 |
A. Man does not live without air.
B. Man is not without air.
C. Man can’t live without air.
D. Man lives without air.
A FICEA &1 i |
A. Good food'is for good health B.
B. Nutritious food is good for health.
C. Nutritious in food is good and health.
D. Healthy food is good for health.
o1 TR TR v |
A. He was died of cholera. B. He died of cholera.
C. He died from cholera.  D. He died for cholera.
Which spelling is correct?
A. Ascertain B. Assertain
C. Asertain D. Asartain
When one is “Pragmatic”, he is being- :
A.Fussy <B.Wasteful C. Productive D. Practical
The word “Ecological” is related to— ?
A. Environment B. Economy
C. History D. Mathematics
“Mass literacy” Means — ?
A. Qrganized education B. Unrestricted education
C. Open education* .
D. Education for as many people as possible
The word “Anthropology” is related to—?
A. the study of soil B. the study of evolution
C. the study of mineral D. the study of mankind

o (sywta AfTey === w=)
Rfaw = 2101 32t pssirs e [7
A. T =S B. Ifd® =
C. ST wid &t D. 7s ud a1}
Tys *ta wierm W s @ Brferas =z =12
A. I3 A5 B. 337 W1
C. Sfaw 5wt D. S efe
2T e YT &3 e T, o e eri @
A. THR R (&GS “Aed B. 0 9 (ofis wred
C. TWR I (ofIG g D. TFAIA R T A
CDBL =& 313 3x?
A. FRarreg B. ceatq atemd
C. TR D. Rmafsrs fafamw
3% IfW 51 I 27 AT [T BT TS Gt
FfRrem 1 3205 B AT dSvro H1F TA?
A. 9o B. 980 C.M.20 D. d.¢o
WRwRETIE Bretama I e SR A AR
TS ACR BreAwa Jm A w2 @?
A. 3 B.v C.v

1y AT A= FAB?

A. @S> TeRT B. @&t < =fi®

C. &% = =T D. @6 w7

o2maT 3= Afrhy e v 231g e R W
oeTIS 27?7

A. RSt s1daz
C. “faoE= sy

D. Yo

B. WT-337 S
D. wifds siferw

v
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39

40.

" 41.

42.

43.

44.

45.

46.

47.

48.

49.

50

A. TSR TG B. &¥e 9%

C. D. 5= &fepm

Az 1fe Tewm WA wes 3 FRI?

A. 5% AR Affwe B, T5w oreid oz
gefog Rz X o

C. T *T52 it 3 D. wgw onen Afw 3
8 e g™

famsa et Aifere $=1?

A. &30 @ @Ea R <3z I @i

B. 93 EAME 3da¢ 532 ¥ 2d¢q T @R TR

C. TR SO IR(E T+ & &7 AW 47 TR |

D. J&tet

A Serer—— R ST aaNaE

C. % D. #=53R

FAAT TGT A IR @A TR?

A. foiRsm w4af{e = B. anfes 1@ 71 It

C. Taf¥e @1 I

D. =fie o @ss =2 e

@I T AR AT > 000 BRI ¢B oA TEES

FWCR | PR Yo% IRIRA Gt @ ¢% T IWR

T BER IR | AW FaEsirem Wy Bt eAfdemy

T T A TS B AT A0S TJ?

A. 8,Goo B B. 2.000 SR
C. 8,300 Tra D. 8,39¢ B
fé% B82: 8ooo

s IR SHTS FodfEa A e vy B
92 Tifaza TP s ot | B g e
RUGTT O BRI R WTF ITAR Od B | T&R C*ITF
A. 8% B B. 8ot 3= C. 848 B D ads Bt
It wenfEe e aefaseir wm @ s
T, o Farem oz wpifie am e @
A. 91 R @S B. %6 oM @ o

C. 7S fomz (&3 D. senfdrs sm o wf®
I &fS R *f 7 20 Bt @3 wERE ¢ B
T SR TA¢R forme =< S farforaw zea?

A. ¢ TR B.3a3E C. 303 D.se o

TEANET FTYP o, 000 TN, AR EE ¢,000
B, T 30% TE IR & RS T
I TIGER I =2
A. b 000 B1# B. ¢,800 B3t
C. 8 bto Br D. 8.¢oo B1F
Hf$% Bex: ¢eoo
TR IRATT  qT= WOTEE WIGEA AT
Fooifer of - Ertaee arEElTe 57
A. RS LTS B. =7wd 5%
C. SA9Rm REATY D. grafsaite
. @RI ARPE GFEBR 02 wrewHS?
A. oA Sfefoe B. 7752
C. Sfefoe ' D. =55 s373f%2

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.
63.
64.

65.

AR T ATEY FWR AT TRER At e
TR cof¥S Bys f favt=t w27

A. TEATH A I AR

B. sfafeq sifamia o =t TR

C. fefen Afamet @ gt T

D. SWTH (R W TETR

TearR Ao L=t TR fA6 8¢, 000 BrAMR Ay
FTITENA ©0.0% TAR! AN IR (@I IR

>
HfITy — =t Ay RA® =0 Ty miww o=y

pYe)
3% Tren e 3w | fraw o )
A. @8,000 BT B. 89,200 51
C. ©3,800 GBI D. 9y, 000 1At
et R TS Sl ¥y g |6
AR YT CARTCAT QH?

A. SREE B. freresadt
C. afeztfie @ D. FEaEst
wITSIRT (TANS @ Wy IAW?

. GBIk B. #tqidt 319
C. T %! S D. =6 =1

2fefe yoo B AN dooofls T A ¥
TIF ),0¢,000 BIF!, WAIAE Tooofs cnmax vy
T 3,58,000 I TITAFA AT w7
A. Y,000 GBI B. 9,000 Bt
C. )O,ooom D. »,000 ot

3 frwt (e fTey =t &)
HER WIS ARISacE & o1 zr?
A. B Ba— C.3aftey D. R
Rertty Rt 2
A. oft=B B. &R (&1
C. = 1B D. et
“T 8 T T AW tr=eiET T =
Hestew"- BSH =22
A. SIS iR B. Srtoi% QTR
C. o fEsas D, 38 @' @ia
Twn 4 RRfs I Rttt e v =
o 5 T 7

A. Dumping B. Banned
C. Dump D. Embargo
2ATEw Tt

A. IRFA I3 e
B. 9% SR NHFSIHA AP A SBH

C. simifiars o  D. efAams afesm

CFH ARG AR FRIAMR JAST IS Fraet
TR AT JTSIAT?
AR B.a

A. s C.¥7 D.3=
A= wtte ‘PERT? M 130X @ rer?
Afvmge  B. sfawgat C. swew D. fRofmn
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66. @™, FRIE @ forem @ wsera forgr? 85. tr¥m ofF I oy ™ T 8f6 T R =m
A fRerwfigr— B, fReswd fom ST TS WS FLA?
¢ S—.m cﬂﬁ; ﬁfm D. ﬁ{t%m?ﬁw? A.0% B.w% C. 80% D. ¢o%
: A'q:%%@ ’ﬁ“B'Et; L 86. W x 7 It I W g 3 (AT ®B AW W
C. wifrem— D. cut 5= SIE fRT5R (IR FITTH TG FI?
68. [ R W (I e FfET owg? 1 1
AW Bi% © ‘f Ax—2 B. ; C.x D. X3
C. TIW 4= D. YwR®
69. TTTIR LR A TS W TR 87. <3f whrerswm 01 60% IMSRAT ZEN | CFATA
A_SrogR B. C. ceeent RO TR R FNTS g TS TSI IANS TR?
U] D. ¢
70. ffirm T et e 3 3@ @MW SfEd? A.vae¢ B.w C.ov.e D. a¢
,"\IBRD B. ADB C%'IF D.IDB 88. 3B =BT U de% FRMTS D B AW IW oA
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C. W iw i R D, e R a3t e
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A. 930 e IS B. @35 «fareny *rafs 89. STEIM CCTUMER W 0% ATSM | Y W& 0%
C. &b afbe *rafSs D. a3 yifre 7afs JITATE | CTETEE WIN B IS (ATHTE A ITNC?
73. o ? A. 8% (TSR B. 8% IR
A.c2es B.ege®  C.Iwss  D. ofAfx : i ’
74. AR IR TGS BAH 772 C. v% PR D. % cTterR
A. fterat B. offsrmet 90. c9OX9o+d="7
C. IIER =i D. @« ™ A. ob B. o.o» C. o.00%» D.»s
75. @IfSsR @R IR AT TEES?
AT B, e ot 91._q$wmm>wmmmmnma »Y TA
C. 7w i D, sewrl SR I ., 77
76. Rriwetra AR fome famt o @ W w0 AR B. 3¢ C.:8  D.wo
NS 92. @=f UM wriFn 93 TENCN 9T TEATR
é.mw%? g.mmizg TR 3¢ | @ TS TS?
77. % BrEcr T I @ D) AR e C.3%o D.ob
A O R RS B TR e 93. ¥ JCH JPIN 0% FIN TCHT (VP F F?
C. ¥R @I D. I3 TR RS A.%% B.ov% C.20% D.o%
78. mwmmmmwcmm B 94. foret @ ofam TEAM WETT AMP™ STHT d¢ TA 4
- w (.} . s 2 TUOR Ao fRed | 2 o THIR TN du
79. @AM ITER TNfeF AREeR SrA?
A T P ST 5 @ @, oW Forem IR 73X I?
C.afferefrst D, amen~es ffeeel A. 80 B. x¢ C.88  D.w
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éwwm g@ﬁm T, f5g ot G MR 0 B T | B ¢ B TS
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99. & ¢ REW MW etwsr o¢ @ ¥y ¢ Téw
FLRT @t T2 vo | fTStw T2 +w?

A.¢ B. v C.a D.v

s¢f8 17T U o =rer g T B crew
T 9,000 T T OfG 1363 Ty T©?

A. 000 511 B. 3.boo BIF!

C. 3,¢o0 BIF! D. 3.000 51t
f$e ©&2 : 8¢oo TR

100.

101. b’ = ac == @R Ff5=?
A0 ga_c b by p
b ¢ b b a ¢ b
1
102. a+—= 3ma’Ti3=° |
a a
A. 1 B.s C.o D.®
103. ©, 3,4, ¢,5,9, 3, ), ¥, —?
A. M B. C.-> D.w

104. mmmmsmmﬁm > Brat, I¥TIR

Q@ I %mm 5.20 Bt | o Ffew o

TR TS?

A. 0% B.vo% C.80% D. ¢o%

3 Bt se¢ ffRpr sz <Rz v IH « AfFdr
IO TN TS &N et Teog zw?

A. 3 fet B. & fot

3 3
C. yo— et D. 33— fet
© B

105.

At W@ 8 Ifwwat (W1 *N=RRA&)
“JTafFs TR 51} ”-«fS 1 &fSdic @t?
A STy g B —

C. ot Ry 755 D. “rfErs M2ER
107. | (TR AR T T S1A?

A. 7 B. ¥ C. Fowat fem D. snrmw
108. 205 AT ™A TEFS TR TR fim ot e
st wefrs Tofen
A. 38 GIL6¥ - B. 29 GH¥1
C. 3¢ for== »5ax D. a ferez »vax
FIMTAT SIETE FHTTI > 46w 302 TS zn?
A. QT 5339 B. 9 < 35qw
C. >0 for7 3993 D. a fermma svax

TR BT (0T SR (T 7 R “newt T?
A. s B C.w D.z%
¢T UMY o aNfiT weTEm WOl WS
THS (G (F1AD?
A. TR B. @ C.@rzee@ D, wfi
112. el 7o 32 ¢, 23, Yo, 0, 3, 39, 19, 39, —, — |
A 9,9 B.q,9 C.obv D. v, o
R ST TR F?
A. WS B.mffer C. swa= D, Ion

106.

109.

110.

111.

113.

114. o X 0.00b X 0.06%0 X 0.0%00 = IF?
A. o.000bd0 B. o0.00
C. o.0dd D. @6} 7

115. SR AR AGRTRT FIAT W A JEWR

& fe?
A. s & B. T
C.Zq R & -D. Sdra 4
116. >59) ATA MNINERT WERATR 7w Sz
sfefafey & srEkEa?
A. an. @ f& oAl B. wifer i st
C. (TR T D. 393 fFerdt

117. XS WRyeTAt (ITE W27

A.EPZ B.CDBL C.BSEC D.DSE
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118.

120.

&R om?
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A. 8 B. 10 C.12 D. 14
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13. <t aem TG 4RAT Redt =1 @ 2T TS @ FErRET Tora feparien (I I TR T
R IS @ ARAT IS @R TS ot TT? A.4x10"° N B.4x10 ° N
A.121 B.1.41 C.1.61 D. 1.81 C.6x10"* N D.6x10® N

14. =fzr 3 T3 R QA 72 fw o= od | 3] SERETT IS AT SRR Geart WReR IT?
Boren face Bo? A.1827 B.1819 C.1828 D.1918
A. 120° B.180° C.>90° D.<90° 32. o35 firw AfRE AR MR 20 A | 93 TS

15. 3 =Y oega WA ol 50 Hz | <3 T1q 15 T 7
A0 B.1 =~ Ce D-1 A.14.14A B.13.13A C.1212A D. 11.11A

16. ::?;f“‘“mm“%ﬁwmw 33. IS AT TR ST 0 5.89x10° m | (3
A.5% B.10% C.12% D.15% B e R

17, O TG AR O et T : A. 3.9><1077m B.3.0x10_7m
A.360° B.180°  C.90° D.45° e U D.32x107m
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Admission Tech



Admission Tech

)
20

36.

37.

38.

39.

40.

41.

42.

43,

. TRTITH TS JLH IR SAXNSG AFTH IFCAS-
_A. 1673
" @R @SR SR Eg=9%x10°Vm™ | Bo & TIx 757

B. 1678 C. 1680 D. 1682

A 3x10°T B.3x10 “T
C.3xI10"T D.3x107°T
X-ray 3R 23 Ron @mitr o3 siex fim wme?
A. RS 3 B. g~ af4
C. = afq D. et afdy

=5 e IR A% S @7 FARFR d.¢ v
@ BT Ffe F57

A. 2.0x108ms™ B. 2.24x10%ms™
C.2.24x10"ms™ D. 2.24x10°ms™
feEfirt +f%2 TEa (I @ S8R IEE-

A. fA3%w B. T3 2%

C. IFATFE D. &.(8. qTW

@R (TEIFT M TR 4 e | G2y & F©?
A.477d B.5.77d C.6.77d D.3.77d
GEARRARNTS @oR [ 8 ofaen JER TGS

ffye =S IR T F?
A.1KeV B.5KeV C.1eV D. 5eV
i} stfrs-80
Matrices <3 I3 D7
A. foarms @fwm B. ey @ wsizar«
C. TSAFA D. @r&tsarst
' 50 45 40 0.50
P=|d45 50 45|Q=|075 | PXQ=?
48 55 30 0.50

A.240.50 B.24450 C.242:50 D.243.50
1

2 3 1 3.5
A= , B= , B=|2 |23,
1 3 2 01
; 3
(AB)C Matrix 93 &% 39?
. A.2x3 B. 2x1 C.3x2 D. 3x1

44.

mﬁam(—l,—ﬁ)'&mmmw‘!
@TE=r 20 9 0 [0, 27t]) W3, O [-m, 7))

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

SS.

(a, 0) 932 (0,a) A= 712G 22® @=fb 7 AW
@z wagE Fofr w97 2a 97 SN R¥QE AR
fpr AT f5cfa T30+ =2

A. (PB)’ - (PA)’ =2aj=+2a

B. PA?-PB’=|2aj= + 2a
C.PA?+PB’=]aj=+2a

D. PA’+PB’=al=*2a

a 9 IR WA & (a2, 2), (a, 1) 922 (0, 0)
Ry e 23)7?

A.0,-1 B.3,3 C.0,2 D.-2,-1

y = mXx + ¢ AR FAFAC m > 0 I3 TR x
WTHFT YRMGI M 3 @or @t ofRrwl?
A. T B, W@ C. g D. s
4x — 3y + 2=0 93 8x — 6y —9=0 TEAA EERERA
TR 3G F?

IF FCEFIANF IS T y wwF (0, -3) Reges
= I@ GN y TF LS T (FTHA TG 4 9337
A x>+ +8x+6y+9=0

B. xz—y2i7x+_6y+9=0

C. 2x*=2y*+7x+6y+9=0

D. x>+ +6x+6y+9=0
INFORMATION {52 3fefor el awta fama
IO JIIX AMEA I T AW | 3R 17 1 <41e?
A. 90620 B. 90720 C.90207 D. 90201
EQUATION 53 3fefsr e ereizamm 4% af
Ao Rfeg #%t 157 a1 =, qom Foefrs Q

TEAR TR g N 3@ /12

A.430 B.410 C.480 D.488
THESIS =53 afefar it ¥t 45 3f
CIi5 AT AT FS7

A.9 B.10 C.11 D.12
A eI ety

A.—£ B. £ c.—4—” D.3rn

3 3 3

sinl5° @3 WK IS?

A J6-2 5 i@-ﬁ_
-~ ) y

c Va2 o Ja-\2
) 6 ) 6

24
c0s20 = E T, tand R TN IS?
A. %6 B. +1/7 C.+2/7 D.+7

28
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57.

58.

59.

60.

61.

62.

63.

64.
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wmﬁmmwvﬁsmmﬁm i‘mﬁﬁme
R AT Roor wws g9 IR

@ o I f,g @R g°f A e affm wmg
R f AR o o1 (I T @R g @R
TS /TF FIAG Teim~ = 2T BA g°f A
oAt ¥ Beorvia 3 Im?

A. T QTS TN B. ==
C. o1 (e Wofe D. ¥=

2x-1, x>3

f(x)= X —4 —2<x<3 27 £(-3) 9T T TS?
4x+1, x<-2

B.5 C.-5

=Ta T
cvaanmj

A. -7 D.-11

xmmcos&wmmw

sm\/_ B sinJ;
C2dx C2Jx
COS\/; COS\/;
C. - D. -
24/x 24Jx
x=at2,y=2at‘{?cﬂix=?
dx
A2/t B.1/t C.t D.t2
-1
deg@mw
0 1+x?
A g™ T pE
192 192 192 192

RNZ ¢ Q &% v (70 fAa RS wfé=?
ARcNcZcQ BNcRcZcl
CNcZcQcR D QcZcNcx=

z=x+iy€3tm|z—5|=3wﬁc$twwm

ANFAIB Tt TR TRR?
A. 3B B.s@ewdt C.wfdqe  D. @+ =%

Vi @@ =B 7= — i 2201 wotw T ww?
A.;—(iiﬁ) B. %(—iiv:)

c.—%(—iiﬁ) D. —%(—i—ﬁ)
4x’ — 6x+1 = 0 TN T 2 o ¢ B X

il lnd o

A. 14/2 B.15/2 C.-152 D.-14/2

66.

67.

68.

69.

. 70.

71

i 73.

74.

7

76.

65.

w

== =1
k@R Ie @@ 3k + )X+ (11 +k)x +9=0
FNIAIT ToTeR T TR FI?

A.1<k<85 B.k>1 C.k<85 D.k<85.

5
(3x2 —L) a7 REfeTe x-97 371 FRMB?

3x
i B.~—3— C.—l—(2 D.B
10 10 3 3
G y=3x+1 @S y’ =dax RIS =onf w3 S
Tormfgs e ATIR T TS?
A.10 B.11 “C.12 D. 13

Torgrez TF farsz A6 I By ufo (0, 4)
6 (0, 4) 92z (3, 0) =2 faen wfsaw w2

2 2 2 2

X y®

A +Y o B. 1+ -
4 9 9 25
y’ x*y

C. +=—=1 D. —+Z—=1
9 16 9 9

9%’ + 4y’ = 36 BT TorfaE AR O T?

A.3/8 B. 2/9

C.8/3 D.-8/3

T x =sin cos”'y T, TR X’ + y’ @ TR T?
A. 2 B. 1 C.-1 D.-2

W cotd =2 TF, @ 10sin20 — 6 tan20 97 W=
T XT?

Al B.2 C.0 D.3

= 12 gz AR = ¢ wwE 9B ™ @Y
Fere aueI fom T@ @, SRR Afé weET I
T G T IFR TR Y T, ST TGA! IABR
T FRG?

A, 6\5 units B. 9\/5 units
C. Sﬁunits D. 7\/5

By MR a @ A 9T ATSER TAw W
IHEHT G0 IFLF SCR ANWATA P I It I
e T W WRE pRFei gfim e Q @

mmmﬁammlo<a<%ﬁm

AN FRG 7e3?

A.P>Q B.P=Q C.P<Q D.P=Qtana

X <R T TS T TR f(x)=1i R N 2R?
nx

A. -1/e B.l/e C.e D. -e
cos(zr,/;T) cos(zz\/;) =1 @z 320 >R ezt AI?
A.0 B.1 C.2 D.3

B T v @O ffre T, o wgEhiE g o
TS THSI 4 0 T | TTFGG JTFIR (I TS TII?
A. 45° B. 50° C.35° D. 30°

@
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77. =B IR 8f5 7, ¢ e 2 A A @M wm | 9. ARSHCGT-97 A1 FTERT-
272 FA G IR A A S ZETR TR IS? /E ATPase B. ADPase C. Catalase D.
A.5/16 B.12/16 10, wHeRerE STy T TR
C.11/16 D.19/16 A.ﬂc?rﬁf%m@mi‘s B. cifeam AR IEes
78. 4x + 3y =c @3 12x -5y = 2(c+3) TR FRY C D. ARG
11. cEares DNA- @3 "33t fmme-
ZES FAGIAS | ¢ WF TN FS 230A? A & 45 O B. o ¢ S
lim 5“*1 + 7"“l 12. ﬂm TH-
S @R TR T 2! A. RNAB.DNA C. DNA® RNAD. DNA @
- RNA
A.3/5 B.-5 C.-7 D.1/7 13. oRE R oA i DNA Ja3 ARG TR A
80. G TS CONT AT AR AW TR =AW A. oo fate B. IR face
TR AT 66 T2, FE (P11 STER s oo C.A s B 3= D @R 7Y
A.11  B.12 C.33 D. 24 14. T TN BT oo
. g g ; A, a3 B. crntanfia st
Answer Keys: 1.C 2B 3.C 4AS5C 6B 7.C 8.A C. ST=R133 D. fr#3s
9.A 10.A 11.B 12.C 13.B 14C 15B 16B 17.A | 15. w51z ssga-
18.C 19.C 20.A 21.A 22.B 23.B 24.C 25.B 26D A micrgBNA B.DNA C.RNA D.siRNA
27.C 28.D 29.D 30.D 31.C 32.A 33A 34B 35C | 16. R Teeg 3tz
36.C 37.8 38D 39B 40C 41B 42A 3B MD | A @i, B, 2efi C. faoersis D. s
45.A 46.C 47.D 48.B 49.A 50.B 51.C 52.C 53.B . ARAZRLY
A. RNA ~93 36 =R e S
54.A 55C 56.C 57.D 58.A 59B 60.C 61.C 62.A B/ DNA -« 30afs =R wefss S
63.A 64.B 65.A 66.C 67.C 68.C 69.C 70.B 71.B C. mRNA -97 I8 ST TP
72.A 73.C 74.C 75.B 76.A 77.B 78.B 79.D 80.C D. e
e fegfRvoea, FfBa |8, shorms. o o e
¢ A. TG A 4 B. S a1 4
§ (37017 ©fE “1ar®
ST IF ( ) -R05b-2059 C.RmfRa At ol D. 369 53 41l
fe_3TfaG GB-B | 19. wifitite RNA “ifomies <m-
Rrfwrm-o i B. g2 «rw
- C. 93 @ D. €5 @a=e
L. :‘3@5’"“‘“ AT - B 20. Fretw efeFEmn ol =3-
C. 7rsa PRI @ 7S oI&TW D, @D 71 éaﬂ'] C %]:Qm
2. B 3te spret wif%Bafe ans- LTS
A. Anti-B B. Anti-O 21, TRITICE &AYISs FHAFSY o7t I-
C. Anti-A D. Anti-A @ Anti-B A.13®  B12B C.11ff D.10®
3. AES g AfS @y TRGEEE <¢re- 22. SE@SIT RIS Frst d21tT I0-
A. 1000 31 sreifys B. 300 %S 400 o A. TR ofeTs B. SAltorE ofsas
~ C.100% D. 200 C. IRME ofes D. TR s
4. wifarFity WAN @RS g 2 23. TSR wore fFarie 7z
é- frefermr g- TR A. TR TAfefore B, TG SERsfore
. FIRCATCA . @B 7w C. Grbrmm-qz B4fifere  D. Brdrom-aa srifEfers
5. 70S FI@ATCA BN W ITATR- 24. ICTSHTTF (v-
A. 80 IR B. 42 2327 . _
A.wrerfs B, ifR@fem C. feamaifa D. g
C. 60 TR D. 52 @R Puiialhidiig
25. wifRErfban-az Twgad
6. wIf5afE Bedig 23-
A. B B. @A C.ome D, SaerE
A. O P (AE B. T-fr#=3s e
26. TFS tofAE FW FoF IR M-
C. NK (T8 (7= D. APC 38 (IT&
7. WG A5 e - A. o o o B. &y &5 ~relfe=
A AR B. s afez C. 2 =5 et D. ot 31 ~feife
C. IREBIT D. awiEyE @ftgamag | 27. ITBRA R MRS b T F03-
8. mwmmmmw A IA- AM;em B.T,¥8 C.Tg¥R® D.T, ¥R
A, T ‘B%?W 28. SRR wfeo i sefSs z3-
C. wonfET— D. 2afirmfea ATeRPre B. 79t C.FGRE D, wart
Mo
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29. RNA SIZam-
A. &=t or%a™ B. Ao mi%a
C. HIV =1iza™ D. Jasr

30. JRIERFMEA FEEW afen sfeaw =0 -

10.

A. WIfBreR B. mf%afe

C. sifetaifos D. 7=y
Answer Keys: 1.A2.C3B4DSD 6B 7A 8B
9C10D11.A12.C13A 14D 15D 16.A 17.A
18B 19.C20.C 21.C22.B 23D 24 B 25A 26.C
27.A28.A29.C 30C

smrdffRE=-30
Tt AREAeB A
A. &=t ML T B. 8% =
C. I’ SR=ML > D. FEeRE=ML T~

A=21+2j-2keB=mi+3j+4k
¥ TR TIF m 9 V9=

A.m=2 B.m=11 Cm=4 D.m=1

180 m ¥p WAz TV (It WSfitER e ol =g
fRest = T 3Eha Wikt 40 ms™ | =gB =@
RIS WIS IACI-

A.0=60° B:8=50° C.0=-60° D.0O=30°
3B 53T [/ 2m 8 =7 20kg ' 1800 rpm

Ffrz pfere sy P st-

A. 12001tkgms B. 14007tkgms

C. 1400mkgm’s™ D. 1200mtkgms™
AT A THOTR-

A 4 B. weif3afEs a7z

C. %= " D. SRerem

qF® SO IF FAN SEF WA S IZE TS
o | e (7 et gRSRS T@-

A.>0% B. @o% C. 0% D. Y%
=7 w1 @ WP TR 1.96.X107 kg @ 7x10°
m T It @3-

A. 6.02x10% ms™ B. 6.02x10 ms™

C. 6.02 kms™ D. 4.77 kms™
T AT ATFS! AL -

A. 74 B. Sizteat C.#f" D.¥¢
Tz (T T/EA 9F-Q3 NIRRT IEA-

A. 1892 A= B. 1890 5=

C. 1895 #AmTA D. 1894 A=A

@3B w1 C, 93 C, R T ForE
A.C;+C,=R  B.Cp-R=C,
C.R-C,=Cp D.Cy-C,=R

Answer Keys: 1.C2.D3.C4D5A 6B 7.A8B
9.C 10.C

TAIFR-vo
WHARTE TR IR R | TR IR =
A. CuCr,04 B. Cu;(AsO;)»
C. Pb;(ASO4)2 D. Crz(CrO4)3
2R PB4 T3 d JABITR @B 2 T3-
A7 B.5 C.10 D.14

10.

11.

12

13.

14.

1S.

16.

17.

18.

19.

20.

HF(a
Rfexn

e Bamm
A.HPLC B. GPLC
0.1 M NaOH 3z pH-
A.8 B. 10 C.12 D. 13
250 ffer M/10 wfPrRe ST ofge I20s fie e -
A. Q3 15am B. 1.575 gm=
C.1.525 amw D.2.54am
FAMTRTER G356 T 90% CaCO;=% 1 200 2=
AR CaCO; 93 ofmet-
A.lSTE B.l.8a@= C.2.0@m D.2.2 @
+NaOH(aq)—>NaF(aq)+H,0(l) :

AR BT
A. —57.32 feeE ! B. >57.32 Rt e
C.<57.32 fatemge arer ' D. +57.32 Rtrem carer
«3f Rz 18 am Hfx (799 1 o=/ e 172
am oy IrAee =z SR -
A.efify B. e C.sff%  D. e B
*nfaz BOD > 80 32T JAM-
A. AfATS @ EY @R B. #it7 wfowran gy
C. =% g 7f¥rs D. @mRfeE=w—
W ITER 4N arE & Ry -
A. Nz B. Hz C.He
ot seRE IPES-
A. CO, B. 3tdfes uf'e C. NH; D. NO,
@ared ¢ wegwEs KOH @3 s 60-70°
ST I WA At TN I3-
A. CTaeR S| B. Srrfmid smfiw
C. gramdamfiw D. et
tery «fSTS ST WO TR T @S-
A.CH;COOH B. C¢Hs;COOH
C. C,HsCOOH D. HCOOH
FRT ¥ el 2R Taifffdrs [ 97 T
faferatm Teg w1
A. WHAT e B. @RME
C. wreres D. SRR
RX+KOH(aq)—»ROH+KCL S, (RITToR C¥Ta <{Te5-

A. —dc/dt o [RX] B.— dc/dt o. [KOH]
C. — dc/dtofRX) [KOH] D: — do/dt oo cotrenfafs
I/ L, Pt ¢ CI' / Cl,, Pt YT Goew ot Sfpeara.
18R AT 't farat WO IR-

AT B.1, C.Cr D.Cl

fore zTet gIR AfRE™ SfYe s FAT FIRTS
@ Q7 Fhws AF ™ RYs T-

A. Mg B. Al C. Sn D. Na

ot 11-97 (TST FAOFIRE ORI wufrs 3@ &,
H,S a3 3t HC] cart 3am ¥t~

A. H'3IRm &= B. S” IR &

C. S” IR & D. @R #eR (=3
WA (1T T0Y TAMHIAGS (GR wiwwa-
A.Ti B.V C.Fe D.Zn
K4[Fe(CN)] clTt (8w et Sfea=t s7e=-
A 6 B.5 C.4 D.3

(IZS W -
C.TLCD.IR

D. CO,

obra
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. STORTE FIHLH F- 4. Fill in the blank with correct preposition:
A. Be B.B C.C D.N He has just left the airport to meet a
22, SR stemeTR (TF- friend who is coming form Japan.
A. H:S B. GeH4 C. PH3 D. C/H3COOH A. for B. from C.to D. at

23, fRifem m RfFam mmEr e SRt a | 5 'Dilly-dally’ means-

G CFL- A. Diligent B. Loiter C. Quickly D.Repeat
A.ciZ™ B @ C.3&FW D.sa & 6. If you read, you will learn. This sentence is-

24. HCl+ H,0 = H;0'+Cl'; ¥3 gffrs HC] @ A. complex B. compound
TRE FES- C. simple D. Compound-complex
A.H;O© B.CI' C.H,O D.¥Ratn 7. Identify the passive form of "We ought to

25, @F ATTR ST TN BoAMR- obey our parents"-

A. C:HgO4 B. CaCO3;MgCO; A. Our parents ought to be obeyed by us.
C.3Mg0,4S10,,H,0  D. Na, B40,,10H,0 B. Our parents should be obeyed by us.

26. 0.02 M s"7r@w MgCl, 537 Tiat ppm G303~ C. Our parents must be obeyed by us.
A.1900 B. 1700 C.1800 D. 2000 D. Our parents ought be obeyed by us.

27. Brfre tofrm Iwmm@- (i) sEAr @ (i) <Ot | 8. Choose the correct antonym for "Oblige"-
I (i) SUERAEITEARS | AT Teal 2i- A.Bind B.Require C.Bother D. Censure
A.ieiii B.ii C.ieii D.i,iieiii 9. Choose the correct synonym for "amicable"-

28. 5 & NaOH-& 100 2 *fifAte gdwe At Tevig A. Interesting B. Loving
Hatera TR - C. Affectionate . D. Friendly
A.225m B.0.4m 10. The correct translation of "=¢= 3= <" will be-
C.0.00125 m D.1.25m A. Come when you like

29. +1 Afs- B. Come at a time when you like
A. QTR M B. «fsz 35+ SifS C. Come when you are happy
C. AT S D. T3 AfS D. Come as you like

30. FPTEfAE T Sy Tee- Answer Keys: 1.D 2B 3.A4.A5B 6.A7.B 8.D
A. CH;0CH; B. }CIOHCGC}LCHO 9.D 10.A
C. CH,CHCHO D. CcHsCl, "Tf%

Answer Keys: 1. 2B 3.D 4D 5.D 6.B.7.D 8.C SIS0
9B 10D 11.A 12.C 13.C 14B 15.A 16, A 17.D | 1. A.B. C Ui offm Tt :ERW 4 X 5,5 % 4,4 %2
18.* 19.D 20.A 21.D 22.D 23.B 24.B 25:C 26.A 7@ (AT+B)C @7 Wt TR-
LIRSS, 29‘A§0‘C R A.4x5 B.5x4 C.5x2 D.4x2
N -0 2. 3P @3 5P WwR 126 7@ A wweny fam
1. Choose the correct sentence- FAE SAR A®T TR-
A. I have not heard from him for a long time
B. I have not heard him long since. Alzﬁf) B. ‘/—QP‘ C. ‘/?_3}) D. 9P
C. I have not heard from him since long. 3. 7i+4k ¥ Tradi-3j+k o= wferes-
D. I have not heard f.rom him for a long 25 25 32 25

2, The poor man said, "Let me have some A. B. C. D.
food." The indirect speech is- E \/5_5 \/g \/‘g
A. The poor man begged that I might have | 4. (3, 0) @32 (4, 1) R~ frw =RF=R =

some food. 0T (Y y WOFR B wafgs T W TN=Ae-
B. The poor man begged that he might have A X2+ Y’ —8x-4y+9=0

some food. B. x’+ v -8x~-9=0

. Xty -8x
C. The poor man begged that he might had 2
C.x*+y -8y-9=0

some food. P
D. The poor man begged that I might had some D.x" -y +8y-9=0

food. 5. Thesis *™fox 3fern s afd3m srfe 2f fam

3. Choose the correct spelling- (16 FATTR= 7L I~
A. Mal}igious B. Mell'ic'ious A.9 B. 10 C.11 D.12
C. Malicious D. Melicious

Sobr
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11.

12.

13.

14.

15.

16.

17.
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cosecO + cot® =«/§‘ T O 9 MR-

A nztZ B. 4n+1)+Z
2 6
c.nrtZ D 2nr+ X
6 3
cos18° +c0s162°+c0s234° + c0s1386° <A ITR-
Al B.«x C. 12 D.0
J‘( x) =2x -3 g(x)= X’ -2 T gof(-5) <& W=-
A. -43 B. 43 C.-167 D. 167
l1+sinx
X T HITATH - T ST -
1-sinx
sin x COSx
N & B. ————~
(1+cosx) : (1+sinx)
2cosx 2cosx
" (1+sinx)? " (1-sinx)?
r/2
Jsin xsin 2xdx 9% =-
0
A.2/3 B.1/3 C.3/2 D. 3/4
X 9% (¥ TR &) I(x)s7 TQA-
A. xe {4, 10} B.xe {4,10}
C.xe {~4,10} D. x e [- 4, 10]
\/1+Ji+Ji+ ............. oo < TH-
15 o 2i2%3i
2 T4
o 1EV1+4i Lo4xV1+2i
- 2 ir. 2
3x°-2x2+1=0 rirwem Tref o, B, Y T YolB
O TR-
Al B. -1 C.2 D=2
1
(2x+§—2)aa'wvwmﬂwxm
X :
A. 13 B.12 C. 11 D. 10
y=4px *RI3_B(3;=2) Rpitad 7 Borwlae
TR -
A. p/3 B.1/3 C.2/3 D. 4p/3

. _14 P | 5 . _116
SIn —+SIn —+SIn  — A AR-
5 13 65
A. T B. & cZ pZ
6 4 2
X @ @ MR T (1, —x), (1, x) & (X, -1) R
&S =] FzEE wIgR F3-
A.-1,0,1 B.234 C.-3,2,3 D.-4,3,4

18. a6 B = R Rz 2 e p=m %
TS @t T | I o e wrme pIR-
A. 123%¢x B.23w C.2/33%k D 3/23=

19. 1 Rz 350 +*fw el S FHIBAER T
936 TN et TN | AR W AN QeI
AQRA1-

A.1/2 B.1/6 C.1/50 D. 2/7
20. X% +y’ =20 FSA x =2 R o R
A. x+2y =10 B.x-2y=10
C.2x—y=10 D.2x+ty=5
vy dy:
21, y+x=x"TEN — @A IE- .
_ 1_ -v-1
_x-y p o
x(1+Inx) 1-InXx
c. l—yx"" . 1+ yx"-"‘"
1+Inx l-Inx
22. 5x -7y =15 R ¥s@ oW @R (2, -3) Ry
AR FTANFAA-
A Tx=5y+1=0 B.7x+5y+1=0
C.Ix +5y=15 D.7x-5y=15
23. ___Ztanﬂz @3 T9-
1+ tan“0
A. tan20 B. 2sin0.sinB
C. 2cos’0/2 D. cos26
1
24. J‘lj'—id ag T=-
0] +x

AL B L ¢ £+—1—ln, D. In(2+/3)
2 4 4 27

25. (a+b)15 @ 7 =X AHA F1-
A.5005 B.5060 C.5555 D. 5055 .
26. p < AR @@ &N px’ +4y’ =1 ¥43sB (11, 0)
=y forey wfdary F93-
A.20 B.1 C. 100 D. 10
27. sec’(tan”'4)+tan’(sec™'3) @ T=-

A. 15 B.1 C.25 D. —g

28. Z=x+iyT® |Z - 3|= 9 vt fritte sermenfs zr3-
A T3 B.%R8 C.°RRe D. wfkJs
29. |2x-7|>5 97 AR
A.x<8 B.x>1 C.x>5 D.xX>6=1 x<1
30. x*+y’—4 = 0 o7 IR Wfge oz am-
A.2,1) B.(1,3) C.(2,3) D.(2,3)
Answer Keys: 1.C 2.B 3.C4.C 5.C 6.D 7.D 8D 9.D
10.A 11.C12.C13.A14B 15.C 16D 17.A 18C 19.C
20.A 21.B 22.B 23.B 24.B 25.A 26.B 27.C 28.A 29.D
30.C

b)- 2
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01.

02.

03.

04.

06.

07. .

08.

09.

10.

11.

12.

13.

14.

{ Admission Tech

ST IX (7AW SfF A F1-205¢-205Y

f-3Tf 5 o5- B
- bo

Fw IJCE WY A AN AT R G TEST

TR IR BAR |-

A Tl agfs B. o7 offe

C. @ am agfe D, S 45fE

oo [1I(A)-97 T3 TR TREFMWE e

wxefre I G NH,OH 97 205t IR 1 -

A.NH,Cl] B.KOH - C.NH; D. NaCl

T (1T 8 R AR (FRD AFim IR Gt Few

=37

A. 7 d-wafisE B. == d-wfIsa

C. > prafaorer D. w7y p-eraf o

PCl; «—» PCl; + Cl, Rfgam Cl, iy sweant 31

A. PCls- 93 Reamem 9fa 4m B, I8 4SR A 1

C. PCls- a3 RE™RAEM A D. @b 77

1M HCl 53v= pH ¥=?

A.0 B. 1 C.6

G qrew frget Irem?

A.TR@E B. 3@ mee C.@ifbs D. WG

@I AT YR AN TC2T-

A. @G B.ZnO C.MgCO; D. 3% 5%

TN (IF I CSRATS Jf| e ROTR T35s =

IR AT g37?

A. Ca(HSOs), B. NaOH

C. Na,S D. B33 SR

W w3 FiswEA-

A.NH; B.CH; C.CO, D. &35 eeE

H,0 8 CO-97 fimrt res BmrdR Besmim

Ty e R @e i

A. LiAlH, B. NaHB,

C. a7z 5% &f® =f D, Hy/Ni

et NaHCO; 33t (gt 33071 35 9i6?

A. CTSTTT PTG BT Z@ B, QAfEm Boofg 1

C. forfafen Beom =@ D. = fRfem za =t

IR IS SMACTHITER G TS A% A ST 8

#*Rg (TS (AT I0?

A. 1100 cm’! B. 3200-3400 cm™ .

C. 1450 cm’ D. 1000-900 cm

Fifvatat fifEar @ =& gen Fde or wTe

o-TRWTEER wfEfe | o7 cafers  Fnfaencan

RfEmrorfaor = Afs?

A. CH;-CHO B. H-CHO

C. CH;-CH,-CHO D. R-CH,-CHO

FIRG FAHw 0 AfSFw 4197

A Al B. Mg C. Ag D.Fe

I TR ST FIIE Sfoe REpest 330 Wiy

@6 7 = R{ys @ | Al 32

D.5

A RQ@NEY B.3W  C. ®f@em D, @fRw

16.

17.

18.

19.
20.

21.

22.

23.

24.

25.
26.

27.
28.
29.

30.

o i Rt erret 3 @G A?
A.OH >I >Cl >S0O,=
B.Cl >I >OH >SO,=
C.I >HO >Cl >S0,=

D.SQO, >1 >Cl >HO
m—ém TEAARET (WY TF) IGTER  ITA

fRwraR?

A. SCA-FRG I B. IR GCEFE
C. STH-z3@IE @eefeazs  D. P
CFOIFRIZS

Mfaa o WM GWRTCR G I[Q7S  WATHAR
afimr Ao FRit?

A.DO B.BOD C.COD D. TDS
COz-m FIY TS
A. 4 B.1 C.3 D.2

CNG wftz +fiz=t 397 I= G =w
ROTR ITIW IR [IFS R | TS ez
"SI AT TS?

A.85-95 B.30-40 C.10-20 D. 50-60
TP AFHS I =17 QISR =N
A MR BTG T I, ITF o7 -

A. T8\ MR dSR B. T 4 SR
C. S D. 513z
CH;-CO-NH, + Br, + KOH —2— CH;-NH;;
fRfeFwa = 7

A. Roardrarrm B. T¥UM fbmre=m
C. TFa-fefoe Rifemn D. E(pers Rfan
snifas 7

A.C¢HeCls B. CF,Cl, C.COCl, D. C4H;00
wBRT T TRMT @ QAoR i wrpfs
Tt swen?

A.MgCl, B.CCly4 C. PCl; D. AIC];
A.Be B. Li C.B D.Cs

420g TNfYe w8 WA B3 faex ot s I

ot ST TS WS H, sfteat Ima?

A. 224.6 oo B. 22.4 fom

C.32.5fmr D. 1feBr

TITTR WF FALATT 8 (TR WS FT=oF I FA-
A. IWER 4 B. SFTR @

C. TF5R a D. TSt 34

HATITS -7 AT AT

A. Mg;Ca(SiO;)s B. MgCa(SiO,)

C. MgS0O,.KCl D. MgCl,. MgS0,.CaCl,

TSR WAFHIZER IR To13-

A.-CH,0OH B.>CHOH

C.=C-OH D. >C(OH),

JIES &E= (Cl0;5) -9 FfR &t 10t 392
A.+1 B.-2 C.-5 D. +5

Answer Keys: 1.A2.*3.B4.C5:A6.D7.A8.D9.D
10.C 11.A 12.B 13.B 14.C 15D 16B 17.* 18.B

19.A 20.D 21.B 22.B 23.A 24.D 25.A 26.A 27D
28.A29.B30.D

a0

\ Admission Tech



01.

02.
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0s.

06.
07.

08.

09.

10.

11.

12.

13.

14.

15.

Admission Tech

T @i g
&G ey F77?
A. Homo sapiens &3 &fs7¥) Se s>z
B. Chordata ®13aR 727 ez e
D. Amoeda €& & &1&
Preorsam Wy @m griT?
A. TR B. 233 C.T2 D. foefe
02 e v g
A. 3" B.3%% C.=3*5 D. ImREw
THEZ e weE e
A.frefa B. &g=w C. fSetes= D. 7w
IEA CFGE (PG 7S] 7857
B. It= Al 5¢ % W= O ATE] qTE
C. c57 pH @3 T T8 q.0v-9.8¢
FLHTBT LR (T T TH-
A.wRnEE B. PecEm C. 3w D. see
wRRATR I fge & 3e?
A. 8w B. wemt C. frefea D. &z
PRI afy s Mo wam @Ei?
A. Srfew B. oG
C. e D. 33w
N Pre 1R W o S T2
A. TSP B. @At C.fev D, G =
Frofrm g3fo-
A. T TS @ B. I3 wfv e @
CIRRarse @l D. agaifks @
R ATt FEEd TR @ Lo 15T o -
A. &5 B. anfe=
C. ®15d D. fFAiBEs
‘Origin of species by mean of natural selection™
e TS 7= F® ToIW (T A3 IR
A. TIAE B. (CENEHDH C. TG TRezx D, ==&
@G 33 Tw?
A. feom amraa I Ragrem
B. “The cause of plants” 8733 F¥T fRegns>
C. foom TR 2R S oiet @ R0 el stoeR oo w72
D. RaFrom Bfew Retaa o=

RNA (& &R a5mfas o 32?2

A. THD B. F3@TETH @
C. IRE= D. ReafaEarzars
@S ¥z 757

A. TREGFEHAT @8 ferm & Aiead fores

B. s s @i Bfgmr s e e =
C. TFH @R ReTN W) (@FIE RIS TR TS
D. TR SsR AR ISR

16. IEIGH I, TRGIER @ WATH 7 ToS-
A. 233382 B.>333)»
C.>358% D.2sgy38d
17. IS @G AR @ =t orE?
A. Chylomicron B. LDL C.VLDL D. HDL
18. R F-w eI 7T?
A.Metal B.FADH, C.FAD D.NAD
19. = Bfew si2arer Twea?
AT B. HIV C.TMV D.LPP,
@ Ff3E 77?

A. Bacillus subtilis 9<% am +f§e ansGR=a
B. Salmonella typhi <% atx @ovfoeayracsiam
C. Azotobacter beijerinckia «fo S e b iaat
D. Plasmid THGRATS *eq I

21. G 9 FIFFAoET LR TwreRe?

20.

A. Chlorococcus B. Chlorolla

C. Euglena D. Gloeoocapsa
22. ARG ANH- '

A. JAIHIE5! B. GfAtsrazs

C. oA D. TReTETS

23. SR WO WIFS @ e @z B v
RIS 6 70=?
A. S5 B arsard C. 36 D. T89m
24. @R A 2t woa 672
A. ACEHIR B. (et
C. CFRFIZT D. SRy
25, | Ao 3y wrys TDP iz sigmen iP 93
I 7% T ATP 157 Af&FanE e zn-

A. FOIFACHEIIZET u TR
C. PR D. stre=
26. ﬁmw%mmaﬁwv@am
e
A, AT B. Soe&=
C. %% D. @53 9

27. R0 IEBIARES I 6FG?
A e e AateTad 3 faamm
B. @1-qfd FAieSACR T w163 Beoim=
C. QM- SR-AEZAF A SR BfEew T
D. 933 FIerE!

| 28. R @ > Rewmawy &7 w7 B =

s<frx Bfem tofd 2eam FawiTe-
A. SoosfH B. TRt
C. @ 2fE D. A2 71

29. NS DNA 2f$ts DNA 97 AR AZTS
IFA @R TAHRIA?
A. foumyg Afemies B. fegag v
C. i u=engx D. sywi¥tes
30. @t AfST@ Bt-Re TeetmA Bt ret wrTtR-
A. Bacillus thuringiensis
B. Bacillus anthracis
C. Bacillus subtilis
D. @+f5E 71

Answer Keys: 1.A 2B 3D 4D 5B 6.A7.C 8B
9.A10.C 11.B 12.C 13.* 14D 15B 16.B 17.D
18.A 19.C 20.C 21.C 22.A 23.A 24.D 25.A 26.C

27.* 28.A 29.B 30.A

28
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01.

02.

03.

04.

0s.

06.

07.

08.

10.

11.

12.

sifde et (w19-2¢)

2 2
3’ = dax R x° = day IS 9 o WG CHFLGH
CFIFA A7

16a°

18a

A. o 9T f 9T

18a’ D. 28a’

C. o 9T f g

3
[ sec?x cosec?x dx @ cafers 7= fafy =-
A.tanx—cotx—c B.tanx +cotx +c¢
C.tanx—-cotx +c D. sin x — cosecx + ¢
t-97 A I|WI AAT & G306 o gz g=s
(a?, 2at),f‘ﬁmmmwﬁww
Ay7—2ax , Bx+y =a
Cx+y =a D. )y’ =4ax
T3 I TEGH TS AR WA (B IW 9
(o, B) =2 fow T, b srifieserAes @mie?
A xty=a+f B.x-y=a+pf
C.x-y=a- D.x+y=a-p
aﬁmﬂmrgﬁwwﬁ‘fnwm(z,é)ﬁﬁﬁw
MW GR 2xX — 3y = 7 TR T 19-

A.x+2y=0 B.5x+2y=1
C3x+2y 0 D.3x+2y=12
XH-5x-3y+16=0 Jzm wewE (1, 2) Ry
=

A fssw B. 3@ C.7wR®E D. @M
kil

3x+by-1=0mRB x> +)" —8x -2y +4=0
33T = I b-97 mw

A. 201'?1 B. Zor— C. 207‘—1 D.

-1
4or—

“Secosnd”’ﬁmwm = 16 Tl 6 26
mﬁﬁwﬂﬁsmwmm IS TS
FEA T QF-

A.60 B. 42 C.27 D. 24
eI R @ wew R “Examination”
ST TFNGT IS (W T4 AR 181 1 Iw?
A. 2454 B.2424 C. 2443 D. 2490
a@ﬁqmﬂﬁwﬁ‘fawm@'ﬁm 5) Rrs.
fge @AM + )y +dx - 6y - 12 = 0 =7
=% oy Tm-

Ax -y =-8x-10y+1
Bx -y -8x—10v+1
C. r -3 —8r—101-v-5=0

D x —v —70r—10v*1—

Tl 3f 3 AR AIXR A, a, b, c, d A

Foore 73 THRAR =6 TR T A
A.17% B.11% C.22f D. 125
.':osaz'—“{cv{_1__t:/m_A G TR TS?
5 1+tan-A
Al BL ¢l plL
6 25 33 15

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

17 qae cosecB = E T, sec(A+B) 97

secA =
mw‘?
A—i B-2 cZ D. =

ABC fige ZA = 60° % 2B = 75° <% c e
™ V6 &1, R, T, a eI TG I?

A. 12 B.6 C.3 D.9
f(x)=2x-3| T, f (-2) @ TR FTS?

A. 12 B.6 C.7 D.9

x=\/7m,%mw
Al g 2 o3 2
Wy 2y Tl Ty

dy

In(xy) =x +ym,a TR FS?
NpLEZa) y(x-1)
“x(1-y) x(1+y)
o XD [, 2D
)(l—y) A(I—y)

a @R TS T, y=cx (1 — x) IS RS
o y WTH FNR 60° TN ey IT?
A.53 B.\2 C. V3 D. V7

j(lnx) dx @2 37

A. x(lnx) — 2xinx — 2x
B. x(lnx)2+2x1nx+2.x
C. x(lnx) — 2xinx + 2x
D. x (Inx)? — 2xInx — 2x

2 +iy(x* — 4) @ ofm 7o

A. +£\/x+2+1\/(x -2)

B. i%(x/x+2+i\/(x+2))

C. ig(\/(x—2)+i\/(x+2))
2

D. iT(\/(x -2)+ i\/(x— 2)

kT X ~(k+7)x+27=0
uﬂ'&ﬁ'{ﬂ‘!ﬂﬂm o T

A4—19B5—19 C.5,-18 D.5,-79
% 2x+zmﬁy’m,

TR AT HT T ) FS?

A. 18 B. 16 C.20 D.22

@R RS 1 4TS, 2 A®E @R 3 A®S e&H= T 3

% = fan = SR R T | efw TS

&t @7

A. 120°, 150°, 90°

C. 120°, 190°, 90°

B. 130°, 150°, 90°
D. 120°, 150°, 90°

SR
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24.

25.

26.

27.

28.

29.

30.

01.

02.

03.

04.

0s.

06.

07.

e —— e e

ABCD zfa AB, BC, CD 3332 IMfrs I1&HW | 08.
1, 2,3 IR & e ofd v2?
A.3V2  B.2\2 C.5V2 D.2V3
QS 7t NI 9 IS 100 (o1 vewt g6 TFt
etz farw 3w oAmerIferea 4 iR < e =
IR, TS A @ qFR e 7 e S FAfRE o=
A. 16 m/min B. 15 m/min )
C. 18 m/min D. 16 m/min
IR FAN JZTeT?
A. 0.8 B. 2/5 C.1/3 D. V0.3 -
tan(~1125) 7 717 7 :
Al B. -1 C.a D.\2
T g2t 0.6 + 0.06+0.006 + ....... 7 AT
FS?
A.1/3 B.2/3 C.4/5 D. 1/6
X+ = 4 305w cFIEn FHB?
A.4n B.3n C.2n D.In 01.
Geometric mean arithmetic mean WF
HIATH-
A. (&% R B. 35 z@ 02.
C. WM TR D. (215 3T 73 IF TS A
Answer Keys: 1.A 2.C 3.D 4A 5.C 6.B 7.A 8D
9.A 10.B 11.D 12.B 13.B 14.C 15.C 16.A 17.D | 3.
18.C 19.C 20.C 21.B 22.B 23.A 24.A 25.B 26.A
27.B 28.B 29.A 30.D

MIUN U e U] 04.
AR Tyt 1T I@ TEIGENE I TCEA
Tf3 TR 7
A. (&Y <TG B. f&fem= 05.
C. fagait wi ffes D. s gres
100 W =731 @ 60% wwe R a3t ambee
% CrTs o ifhe Fe fafr 33
A.70] B.601J C. 80J D.40]J
wiSTSer G2t ‘g’ o I FACEE FI- 06.
A eq® B.a®Fe C.o@m D. g
AT T SIS ZTR-
A. 273°C B.0°C C.-273°C  D. =53 | 07.
_q
20°Cmmwmwmmmwm
17.5 gn/m’ G =T I TNg 20 gm/m’ T
s wHS TS
A.87.5% B.47.5% C.77.5% D.67.5% 08.
SRR Tan 0%t RS e 73?
A. afBoM T FITER 10§ 7T Foi 3 09.
B. A «fam F& cors 2= AR «fdwa Sieer erares
C. (3 foga T3 7 I3 319 A A& =T ¥ 10.

D. 31& 8 SI% T3 WA AL

<GB qAFT W8 NS W ez ey V ax=
R Afwes =S U« Rex w3 ==
3V ¥ 3= SAfers s 3% corem S zR?

A.3U B.9U C.6U D. 8U

1 m WY 93 e ozm W w5 A Rege
ooIfrs 3rg | o1a® 0.1 Wh.m™ F1® Tt 93f5

I BTHSF CFURR AN 30° (IR I3RS WIZH
FACT TS INAA A WS ]AI?

A.030N B.0.20N

C.0.25N D. TrRf6E 7

T35 Sfye ILATS WfTB Sfye ATz e fadfo ==
I @ @ wRA?

A. FRITE 5@ B. MRACEER 5@

C. R85t @ D. G- tsR 74

A5z @ @R oI o STTeTE X7

A SRS o3 B. PN 3%

C. e fofsse® D. v-@
Answer Keys: 1.C2B3.C4.C5A6.C7B8C9D
10.A

English

Correct spelling is-

A. committee B. commitee

C. comittee D. comitee

The nearest station is two miles off. Here off is-
A. conjunction B. adjective

C. adverb D. preposition

The noun of the word “rich” is-

A. riches B. riehes

C. richer D. riching

We should the rules of our country.
A. abide by B. by the by

C. abide in D. a lot

The proverb ‘Patience has its own reward”
means-

A. TR TP AFTS TF B, T&F {7, ToH W
C. R e T D. 4 T[T ©if# AMTE
He did it. (make it interrogative)

A. Did he do it? B. Did he not do it?
C.CouldInotdoit? D. MustInotdo it?

I called him a fool. (make it passive)

A. A fool was called him by me.

B. He was called a fool by me.

C. He called me a fool.

D. Did I call hima fool?

I am in need money.

A. for B. in C.of D. over
The synonym of “Bonafide” is-

A.erect B.complete C.sure D. real

I (finish) the work before the sun sets. Right
form of verb is-

A. shall have finished B. had finish

C. have finish D. no one

Answer Keys: 1. A2.C3.A4.A5.C6B7.B8D9D
10.A

3890
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66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

FIAGEN FLE] FTETT SIGF A1 TN IS A2
A. 9  B. >sta C.v9 D. d»a4
205 frgFtet FHIR WirwTES 7 IHMB?
A. S B. ¢fo C. af5 D. »oft
Rt R
A. g B. gl ga C. IR’ AW D. aFER W
Rz TAR-

B. ™A

A. Gifes
C. fAe39< D. T&e @O

FWETRIAE G REGS RO (et IR (@I FF?
A. TECH B. e

C. W=t D. Tfaazpe

Quantas (IR TR THRENETA(T

A. w9 B.Afea @it C.@™ D, weagem
A8 R (TR TR /1N

A.zrefeat B.awmaie C. o@D f&fFens
g o= 52

A feres B.ag  C. fowafems
CD-93 wifRsrs &?

A. @A B. amRwEt C. @fRe 92 D. Ifba 51es
LDC @z sjfrrzmst 317

A. Last Developed Country

B. Least Developed Country

C. Latest Developing Country

D. Last Developed Community

@G Rt R wgt T37?

A. Green peace  B. Water Aid

C. WWF D. Smile Train

firrezz omTr W A A2

A TR B. IR

C. SR oA fH D. W=

TFE @fres s x® T fwey @ ©
EAQPRE (ST AT ?

A. e B.vy C.9%0 D. kae

TR AT o) (AT YRS oMafE 93 Ao ARGyl
A7

A ATt @ B.azad @
cCaaenass D . @IAFENT

b, 3], ), QW Y, 83 AT AT TS?

A. 8> B. 8o C.89 D.s8s

Answer Keys: 1.D 2B 3D 4.C5A 6.A7D8A
9.A 10B 11.C 12.A 13.C 14.C 15.C 16.A 17.B
18.C 19.B 20.C 21.A 22.D 23.A 24.A 25.D 26.B
27.C 28.C 29.A 30.D 31.A 32.B 33.C 34B 35.D
36.C 37.C 38.D39.B40.B 41.A42.C43.A 44D
45.A 46.B 47.A 48.C 49.D 50.D 51.A 52.B 53.C
54.D 55.A 56.D 57.B 58.C 59.D 60.D 61.C 62.A
63.C 64.A 65.D 66.B 67.A 68.B 69.C 70.A 71.D
72.B 73.A 74.B 75.B 76.D 77.B 78.C 79.B 80.A

D. =

10.

11.

12.

13.

eifas efRveg, s

ST I (371 SfE 1A =F1-2056-2059
C-3Tf5
-0

“g1a farar o et sy, (@ fAtem «ofr o

R, ¢ IR W« T YNt IS oM A
BB @ coT?

It

B. *T\'a%rxs SHAN

A. S TE
C. T3 gt D. I8 Teee TN
FAFART AT F1RJ TIF IS TH O S I[77
TS fee1?

A. 3 B. 38 C. D.
“HEM1 g g IR T, R @ T TR - 7 @l
A. Ta2 39 B. f@am
C.fem D. 53 w3

A 9+ B@w+7 C.&%+@ D.7+«@
RS fAey =72

A fwm  B.@W3 C.@M&F D, *"Are
Modernism- 9% 1Y) ofigs “fremr-

A. S B. Stgfaee

C. snyfazsram D. sgfaem
“G5t" *r4fD WITR (T T5AT?

A. &8 B. R C.wdR D, @ReR W

IR R qFe=-

A. @ral B. /e

C. #f¥fsrs D. @B 7@
s Rere Ry Tifvs Fews =10

A. T B. grEAt C.ogd D, Rww
'Asylum’- 97 #1fsif¥s ==

A. @% B.wmw  C.fam D, W

R 93 AfET 23S @ gerw FAG?
A. TR+ 5 B.{¥ + g

C. ™M + W D. \/""]_-i—%

JUT STEW YN FAG BAMEW =2

A. oft B. ¢f6 C.¥6 D.sfo
T @l TwlRws @t e sEw (e
o3I - '

A. >0 AT B. 3%0) A

C. Srod A= D. Moo =

S IUTo)
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14. TWERE AR I TS fFoe w41 7132 24. Choose the correct spelling-
A.8 B. ¢ C. v D.a A. Bogquet B. Boqquete

15. ‘e ==z i fRosw- C. Bogquette D. Bouquet
A R+ =g B. @+ =d 25. wif¥t €7 & TAfie 93-a7 e EE TT1AM-
C. @ +wd D. fa: + wd A. I am not in need of wealth.

16. “ERART' (I LT B. I do not hanker after wealth.
SRl BRI C. I do not unlimited wealth.

17. F@%ﬁ%ﬁm D. e D. I am not interested about wealth.
A, w07 B, wiaf = 26. Fill in the blank with appropriate preposition.
C. e == D. 3t =% Heiis all ruined.

18. TG @g? A.with  B. but C.on D. upon
A. TG B. T 27. Which one is correct?
C. TgGmA D. TgmA A. The bird was disappeared.

19. ‘== vl e ey SNt nefk - Aefst B. The bird is disappeared.
T T IEA? C. The bird were disappeared.
A. TG 31F B. T WET D. The bird disappeared.
C. I8 NoFe D. CEN IGT 28. Unless I tried my best, I —— the chance.

wafe? A. could B. missed
2. FQE fwe c:::;c;::ﬂ s ' C. was missed D. could missed
29. "Aggravate'" means-
.. e e 05 R ) A. Cultivate B. to accuse
C. to become sick D. to make worse
ng 30. 'Aroma' means-

21. "Life is a broken-winged bird, that cannot A. Fragrance B. Fruits
fly." This line has been taken from- C. Colorless D. Food
A.D.H. Lawrence  B. Robert Herrick 31. Antonym of 'dogma’ is: o
C. L. Hughes D. Kazi Nazrul Islam A. doctrine B. prmc1p1e

© 22. "Till our country is liberated, taxes and C. tenet PP
) ) i . 32. What is the meaning of 'Of late'?

custom duties won't be collected, No one will A. recently B. delayed
pay then either" these lines have been taken C. lateness D. too late
from the speech of- 33. The phrase 'make headway' means-
A. Martin Luther King Jr. A. doing hard work  B. to make progress
B. Bangabandhu Sheikh Mujibur Rahman C. to make loss D. to find highway
C. Mawlana Vasani 34. "Cut and dry" means-
D. Sher-e Bangla A.K. Fazliul Haque A. secret B. already decided

23. Choose the correct form of Passive of: C. brief D. humorous
"They probably won't attend the lecture 35. Which one of the following is related in the
tomorrow" - same way as Fire: ASHES?
A. The lecture probably not attended by them tomorrow. A. Accident : Delay B. Water : Waves
B. The lecture probably won't be attended by them. C. Event: memories D. Wood : Splinters
C. The lecture not probably attended by them tomorrow 36. The committee from the ministry of
D. The lecture probably won't been attended by Education is going to the school.
them tomorrow. A. check B. examine

C. inspect D. control

9D
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37. The word "Substantiate" is a/an 47. Choose the passive form of ""Buy me a shirt"-

A. Noun B. Adjective A. Let a shirt bought form me.

C. Verb D. Adverb B. Let a shirt be bought for me.
38. The correct spelling of the word- C. Let bought a shirt for me.

A. Dilema C. Dilimma D. Let buy a shirt for me.

SRl D. Delimma 48, “TRINe a WG Skt fet” @ 33 Transalation GwiB?
39. Which one is correct? A. I participated of our freedom fighting.

A. He made a five minuted call B. I also had participated of our freedom fighting.

B. He made five minutes call C. I also took part in our freedom fighting.

O S el D. I also had taken part of our freedom fighting.

D. He made fifth-minute call 49, Sl:ange the following sentence int'? affirmative
40. Which one is the plural form? None but one student was absent

. . A. One student was absent.
A. Criterion B. Criteria
. . B. One student was always absent.

C. Criterious D. Creteris C. Onl o bsent

41. The correct translation of “wify TN Iffm &y -y one ZgReg was abset.
" D. Only one student was always absent.
PR s A" is-
50. there?

42.

43.

44.

45.

46.

A. 1 will rather die than steal.
B. I am rather die than steal.
C. I would rather die than steal
D. I die than steal.

He decided to sell the house. The best:

passive form will be-

A. Tt was decided by him to sell the house.

B. He decided that the house shall be sold.

C. He decides that the house is sold.

D. He decides that the house is selling.

Pluck me a flower. The passive form will be-
A. Let a flower be plucked for me.

B. Let a flower plucked for me.

C. Let a flower plucked me.

D. Let a flower by plucked me.

“INRTG TN 97 AR REAG AF I FD?
A. Somerset Mom  B. Somerset Maugham
C. Somerset Maughm D. Somerset Mauhm
The indirect form of Father said to me,
""May you pass the examination' is-

A. Father prayed that I might pass the examination.
B. Feather said to me that I may pasgthe examination
C. Father prayed that I may pass the examination.

D. Father said to me that I must pass the examination,

The passive form of '""Write the letter with
A. Let the letter written without any delay.

B. Let the letter be written without delay.
C. Let the letter be written without any delay.

D. Let the letter written without delay.

51.

52.

53.

54.

SS.

56.

A. Was anything occurred
B:. Did anything occur

C. Did anything occurred
D. Was anything occur

A SwF-9o

Sustainable Development Goals
wfEsTTe Tt TR RS TF-

A. 03¢ AA B. 03y ATH
C. 2038 AIA D. 0d9 A
203 A WEATS ATEH FER (A TAE
wAfen @R STF WRAHA w7

A. Price theory B. Wage theory

C. Contract theory D. Market theory
wige e o v o/ AR Agfene f
2AfEBITR T TS TR "TSN BIVT T TIER-

(SDG)

A. TEARGIE B. &=

C. R D. Tfiitcs
TN AT SIY-

A. T B. T}

C. ternft D. I=@3m

d TR 054 T (U3 FRgANea a5 cAfes-
A. TR B. f&m Tnfaw
C. fefo @ D. TF siwEant
CHR Jr&TR frrEE gt @ RiG?

A. BSEC B. DSE
C.ICB D. BIBM

I
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57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

"Greatest happened of the greatest number"
R ST [T IWM?
A. THTAMRM B. SwigeRi
C. If&ETeg am D. =nf%am
a5 T s1RR Afafe v.2e TR 21 ¢ 71 o
5oCS BT IS TACS TR?
A. 800 3F B. 800 A
C. dY%o0 I D. u8oo I@
\/— 1 1
x+ ﬁ =4 x+—="

X
A. 12 B. 14 C.16 D. 18
geanenz Re@ war e otz wm sfesem
TR Ty R o ofeafy R wftg
CoTaTRA-

A. BEfe e B B.wNEE C
C.@rar Wt D. SIS @IS
NSG T=-

A. Nuclear Suppliers Group

B. Natuarl Sustainable Goals.

C. Non-Service Group

D. Natuar] Sustainable Gas.

et 7 AfS & feem RfF q@vr s o

wF7 farerea-
A. Q1 fE=m B. &% I+{E
C. = TS D. 3.1 ot

FABFRRIN @R @R BfFan I3gs ?

A. Fer fimiffm B, 3[/famm

C. wdAfey D. 1S

IOLAMSS IS (I ol T AMF?

A. oo et B. *= femt

C. 3fRa= D. SI13A e
AT T Y IR

A. W B. @@ C. Ao D. SRS IER
930 HT Obo B RET =17 0 Bt BfS Teor |
w67 T T TS?

" A.8% B. v% C.¢% D. %
e @R +foR vifen wfyfegtas?
A.®—d  B.w C. ff% D. 3f&
IR T AEHFACR AT =S FIR0?
A. MR >MC B. MC > MR
C. MR=MC D. TR = MC

69.

70.

71.

72.

73.

74.

75.

76.

71.

78.

79.

80.

ToaR faera @t @S F5R "uEw fe 97 g7
feretes?

A.831 B.e 3™ C.v3I™
(a+b)’ =49,4ab=24,a-b="?
A. 6 B.4 C.5
CTBT &% sjfat-

A. Complete Test Ban Treaty

B. Comprehensive Nuclear-Test Ban Treaty

C. Chemical Test Ban Treaty.

D. Chlorine Test Ban Treaty.

"Give me blood and I promise you freedom"

Tl -

A. eifezm B. o7 51 37

C. T emfaI5 D. &%
"Grammar of Politics" 92 zsfirer &7

A. TEteRre B.omeaw C. 339 D. IS 7nffw
L& AR T =T
A. 3=

C. /@AM
G.S.P. 97 %fzmet-
A "generalized System of Preference.

B. General System of Preference.

C. General System of Prevention.

D. General System of Procurement.

"Asian Drama" 330 O=¥F (&7

A. ST¥] 5 B. &a13 figem

C. 7€ 1 D. w1 Tref

N wWIEfRF-¢ R i 3e ome

TR WIS BT fcaide?
A. 8-] B. 8-9 C. 8-3

Tfam Rt W =B?
A. >Ermfa B. W6
Yutube-93 SfA%EF 2
A. Steven Ven

C. Chand Burley
WIRPY R W IR
A. TFF I

C. ToRA D. ST Med!

Answer Keys: 1.D 2.C 3.D 4.C 5.C 6.C 7.A 8A
9.A 10B 11B 12.D 13.C 14. 15A 16C 17.A
18.A 19.B 20.C 21.C 22.B 23.B 24.D 25.B 26 B
27.D 28.B 29.D 30.A 31.B 32.A 33B 34B 35C
36.C 37.C 38.C 39.C40B 41.C42.A43.A 44B
45.A 46.C 47.B 48.C 49.C 50.B 51.A 52.C S3.A
54.A 55.B 56.A 57.A 58.D 59.B 60.B 61.A 62.B
63.D 64.B 65.C 66.C 67.A 68.A 69.D 70.C 71.B
72.B73.D74.C75.A76.B 77.C 78.B 79.B 80.D

D. ¢3m

D.7

B. T¥aaE
D. gt

D. 8-0
C.3@ D. v afe=

B. Jewed Karim
D. Steve Boxer

B. Ttemis

09
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=T Ry, B

ST I CTRN) S AF1-205¢-00Y
C-3ef5

FE-0

01. ‘I R INAT X’ IR =T (&7

A. BT Toredl © B, WA TRR

C. *I1z I7a Ifaw D. SY &¥1 SR
02. THREZT 9T (unit)-F A 9T 77?7

A.ww3 B.upe C.Es D owf
03. W fawr F?

A. 39 B, cetere C. @isRie D, Arered
04. ‘I W GIBIR (7re whe Wi Ffbwtet v

A. 936 TP MR FMEA B, @3N
C. et D. Gt
05. e NfErey FAM¥ey Retrw’ 1= Betfa?
A. e IRW B. 1zm *{a@g
C. CreTE chrgdt D. W T

06. I ST NE-SGT *THI T (I ST ZTS?
A B.em@ C.wt D.WwFe
07. S5bu8 AT D O AMTF W @R F?
A. T W 2 B WW
C. IR IR
08. ‘aﬁmﬁﬁﬁmmﬁm Mﬁrﬁwaﬁm
zsfiret &7
A. T TR B. 93 9@ IR 1T
C. STored I [ D, (WIEEm FE I
09. 1= Iy Wyt farat wmny?

A. (T MR B. (SNTR T (34 SR
C.@eu 7Rt @ D. 3 Te! 31 &=
10. Wl Ft 32?

A. fofEr 3/ 3 B. It WA e I
C. 0% 9 ~Beq I
D. IR 5 AICT AW I
11. fRaogie cemice sifs <@ 12
A.FF61 B, IoT% C.*™l¥a D. »=I_T
12. &< fI5TR "TIAR’ (IN GFA 17
A. T B.@r@y  C.@ff® D. cifers
13. 1gfe @ AP e’ TR === F?
A. TV T&edl SR B. T &g
C. ar%3 3IE D. sffE=
14. ‘o o} WAMER SN FENETT AT AIF e
AR -Gf6 @ e 534?
A. IIXIER 4TS W B. 3@ C. IE@= D. sifegdt
15. ‘The nearest way to poor man’s heart is
down their throat’- IFF = gz Tyfs?

A. & @ I B. &R
C. W= T D. Ir®

16. TREET G SR O BT e St 320 wen?
A. a3 o B. TSI7 &R TR
C. oiég T D. @

17. e SIETE ENfor (TORES T SITt Sist 3141 77

18.

19.

20.

21.

22.

23.

24.

25.

26.
27.

28.
29,
30.
31.

32.

33.

34.

3s.

36.

A e B.osits  C.8 9 D. ¢ s

A. MR AL B. ae FeR
C. TATH Fe D. wiate S
‘5’ *TH I A7

A.0R  B.A® C.¥" D.d®
TR 97 T 43S © e cafe?

A. SH+Te B. wR+T C.9R+T D SF\W+7
The correct synonym for ‘Ripe’ would be-

A. Developed B. Optimum

C. Rational D. Perfect

‘A Brief History of Time’. The author of this book is-
A. Einstein B. Stephen Howking

C. Blaiac Pascal D. John Bardeen

FHIRS I07 WS W &2 1 The correct translation is-
A. T also took part in our freedom fighting

B. I also had a part of our freedom fighting

C. I also was a part of freedom fighting

D. I also had taken a part of our freedom fighting
What is the singular form of ‘Politics’?

A. Politicess B. Politces C. Polities  D. None
The major.theme of ‘To Daffodils’ is—

A. Life is short, art long B. Daffodils are beautiful
C. The ravages of time  D. Nature never dies
Choose the correct spelling-

AiParasit  B.Paracite C. Perasite D. Parasite
‘Better three hours too soon than a minute too
late’ was said by—

A. William Shakespeare B. William Wordsworth
C. O’ Henry D. Edgar Allan Poe
What is the antonym of ‘Prior’?

A. Posterior B. Precedence C. Next one D. None
I shall introduce Dr. Hakim.

A.for B.at C. with D.to
‘Charles Dickens’ is a great-

A.Post B.Critic C.Play-wright D. Novelist
Mention the clause of the underlined part of the
sentence: ‘He came when I was there’.

A. Noun clause B. Adverbial clause

C. Adjective clause  D. None

Man cannot live alone. The word ‘lone’ here as-

A. Adverb B. Pronoun C. Adjective D. None
The compound form of the sentence ‘Inspite of
being old, he was young at heart’ is-

A. He was old but young at heart

B. He is old but he is young at heart

C. He was old but he is young at heart

D. He was old but he had been young

‘Extempore speech’ means-

A. First speech B. Speech without preparation
C. Early speech D. Final speech

The correct translation of T3 J#3 M7 NITS AT |
A. Sakib can sing nicely B. Sakib can sing well

C. Sakib can sing good D. Sakib is good singer
‘Free and easy’ means-

A. Openly B. Gradually

C. Verbally D. Frankly

Q]I
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37.

38.

39.

40

a1.
42.
43.
a4.
4.

46.

47.
48.

49.

50.

51.

52.

53.

Martin Luther king Jr. died on-

A. 1960 B. 1962 C. 1966 D. 1968
‘While I stand on the roadway or on the
pavement grey, I hear it in the deep heart’s
core’. From which poem these lines have been
taken?

A. From September 1, 1939

B. The Lake Isle of Innis free

C. The Charge of the Light Bridge

D. Dreams

Which of thefollowing word can be used as a verb?
A. Mister B. Master

C. Mistress D. Mastery

. The passive Voice of ‘Did Samira do the work?’ is-
A. Was the work by Samira done?
B. Was the work done by Samira?
C. Is the work done by Samira?
D. Was not the work done by Samira?

I count your help.
A. for B.on
C.of D. at

‘One who is assertive’ is-
A. Unwavering B. Forceful
C. Violent D. Earing
‘Out and our’ means-
A. Fully outside B. Note at least
C. Thoroughly D. Not in depth
Find the correct spelling.
B. Suvenire

A. Suvenir

C. Souvenir D. Sovanir

The word ‘Neutral; is-

A. Adverb B. Noun

C. Adjective D. Verb

What is the antonym of the word
‘Monotonous’?

A. Interested B. Interesting

C. Monopoly D. Monologue

What is the plural form of the world ‘Syllabus®?
A. Syllabi B. Syllabuses

C. Syllables D. None

The superlative degree of the word ‘Bad’ is-
A. More bad B. Most bad

C. Badest D. Worse

Choose the ‘Interrogative negative from the following-
A. Does mother cook rice

B. Has mother not cook rice?

C. Does not mother cook rice?

D. Does mother not cook rice?

‘Vanity Fair’ is written by-

A. Charles Dickens  B. William Thackeray
C. P.B. Shalley D. Words Worth

RIKIERRAG!
@ IR TOEH  WFAE  YfSransm IS
ajcieTid

A.8¢T B.8y®H C.89®7 D.8oww

TS IR FIAAST W 7?7

A. S50 A B. Svbo MM

C. Yoo ATH D. 5b) A E

9 Y FETH NI AR NS IR J7FR (OTZA?
A.3T  B.3@w C.o® D.sww

54.

5S.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.
66.
67.
68.
69.

70.

71.

‘PRSP’ T0%-

A+ +fiag B. Wiy Roas mEe @ese
C. s Reaga

D. wikg ¥ Aeaet searta c@i=reisia

e cemt SIS W T WWee fTer?
A. 39 B. @ C.fR=w=  D.cle
TR HHR T A SR FIw AR oS 77 @0
A. SHTIR SR 53 WA IR IR

B. SHEW SRAATAR &

C. S SIS I IR T

D. gl Sree @, &)

A. 93 QI TR Ao

B. 93 @R Ir  C. U3 @R 7S T4

D. «3 w372 Ff wfAifs

TfoR R 2 wrewrz T fags z=-

A. SHbo ATA B. s5b) AA

C. SSbb A D. S5y A

@R TR JZIW?

A. 0.5000 B.0.0d00 C.o0.00% D. o.000d
36 B3] Vo T R@w 1T 0 Bt w6 zrem |
HREY SHA T TS?

A.8% B. "% C.2% D. 3%

Y (ISt = o.0bws 2t 7= > ARG < ?
A. 900 I B. .coowbvaq 2fe

C. 95900 3f& D. vs9d000 3%

vf%x+2y=4aa:§=2§'a,wx=w

A.2 B. 0 C.1 Dé
Fafearg AR fageem sprent wR At
A. 8¢° B. wo° C. ¥o° D. »o0°
AATACHT T RS Ffutemz 71 o=
A. T A QW B. WRYT 38T

C. fge e D. a5 wfies e
TN T ST AT BT TS 7

A.5TF B.3¢® C.3»&F D. &
MR STRPR SRS 33?2
A. 28R B.wmmt C. Fw6E D. fafszas

TR AfAATe FW @GR LS 7= Lofers?
A. firet B. ey C. Wgeg D. TR
b1 ¢ TfF T3 WATR-

A. *f#sFE B. *fiwss  C. firew 51 D. Hfexew
A. cfST frae B. 7% @377

C. TqTor® i D. @ 3=
A FRWATHT (FIR AR G 359 AR
B TRISGTANS 7 2T Tt TEHCR?
A.%%3  B.@@m=  C. 5gwe D. szews
TR INE TR [FTCYT THBR TH T T IR
A. 35 TMB 5Had B. o TMF 5»a

C. ©d T¥ 353D D. @W63 75
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72. RS @R O AMEIA? 05. ‘@IS c;a;?%mvngww
” A. T% = C. D. s
A e" B.fees C.We@  D. e 06. ‘T TEIFRR e Rt FwH?
73. PO g SR A.Z+% B.2+9 C.¥+W D.3+«
A T@EE B.Twfwm C.¥RS D, >nfa 07. TR 2T A O 5o It | IRIT AMfA’ B wed
74. FLAAATT YIS TG I (AT 517 TH? IS TACR?
A. 9o TTF 3543 B. 33 e A. BT od B. Frife rd
C. vy wid D. /t «nfd wed
C. 3 D. 8 T spaw 08. STMGTER ‘COTTHT (I €T TTG?
75. g wmmer’ WA IR SRS et w1 27 TRy C. AfSars D. swam
A. > @FfA a8 B. 33 T s»eb 09. (. ')'fﬁsﬁ'iw!@—
C. 20 @f3@ yp02 D. 39 B dpby (i) 7%= foz R (i) =Frg RRowe (i) au
76. FETATT ‘PSC’ TR IR &fEBR? A. 1, 1i @ iii B.isii
A. g B, smafge C. fefae D, s C. ii 8 iii D. i siii
77. Fravrd W6TT TR Torw RofS v @ wrngy | 100 T W A Aqem JrReA JAEn S
fifire TR o= 7w B2 TW’ 9 T (7 B
A. SRore STR o7 B. 631 ol 3 o D i
C. oefx D. S fifem 11. e R I 537
78. o3¢ FAE ‘UEFA’ Sifosmasr At g63wa et A. @4 B .ogA C.S®¥ D, @
fors = FR? 12. Ao @R -3t 732
A. e wfm B. aiwfemt C. fPasf& D. oafs A. ¥R (B.@4 C. A& A D. Q= I
79. ‘TeR’ 7 IHE AR 13. fAwss efo sfée 72
A.wm  B.fam  C.f D. TSt A. ¥ @ S e s
80. 0T HETY TPRY F@W (COP 20) TRE T{os 2'%.86’{%%%“‘{ i
= D, =3 e @@ () IRRS
A. (TR, FTO B. e, TS 14, TRETTEE WSS TS 4FE B gR
C. fom, ¢orF D. faef® @efz, 3fe= cTaR?
Answer Keys: 1.A 2.A 3.A 4.C 5.A 6D 7.D 8B A. e B.dee C.dvo D.ddwy
9D 10D 11.A 12.B 13D 14C 15.C 16B 17.A | 15. G/ G TN QR TR 7R s
18.D 19.D 20.D 21.A 22.B 23.B 24.D 25.A 26.D 3@}3!@ ,
27.A 28.C 29.D 30.D 31.B 32.A 33.B 34.B 35.B /é- eI C"Z;“;E_ g- ﬁ@f “‘fm%
36.A 37.D 38.B 39.B 40.B 41.B 42.A 43.C 44.C : w.ﬁ. 9 3R, T - ArteEE
458 46.A 47.A 48.B 49D 50B 51.C 52.4 53.c | 16- "SR’ =T IR ot vrw wwrR?
: : : ’ ' : { : : A. B B. 2w C.wft D. W@l
54.B 55.C 56.D 57.D 58.B S9.A 60. 61. 62. 63. | 1o L e o aret B B T Gl T
64.A 65B 66.A 67.B 68.D 69.B 70.D 71.B 72.B | A TR ——Bafre R T—
73.C 74.75.D 76.C 77.A 78.B 79.C 80.B C corasta - D, wrrad
W : ‘Elﬁ' : 18. “wE FEW fettr =R oS i
SN T T @ SfE 21 AHt 05¢-050 A, ETR—B e~ C. WREE D, sfafe
m 19. ‘Green Room’™ 3o & @mm?
A .S Y B.5g@ ¥ C.5g@ @ D.IN
20. TR WIZCATR ST BART @1B?
A. ST oRr=uf B. sf¥7e 7ate
C. ig fts D. ¥ ¥ IR
21. WEMA M0SR ‘@EAINIY’ INAR T&H F?
A. I B.Wge@e  C.®Re D. FAEHER
22. 7
AR B. ffsR  C.3=063a D. siorifm
23. AR BY AANER NARG ATTHS 77 | FAT GOt
STAF—
(i) ST I@ cerm (i) TG WY S I
(i) FriTwT wrTierret 3% I
ot 1A Afow?
A1 B.ii C.i1811 D. i1 @ iii
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17. ‘sigafes (=" &35 IRim- ENGLISH
A. v B. comfeafe 31. "How shall the summer arise in joy"—What
C. woenfe D. et is the next line?
18. TR M- ‘FAAH’ TGS T (F L2 A. Or the summer fruits appear?
A. Reaf fReerast B. Bomigs fRu=ret B. Or bless the mellowing year?
C. SRR WAFEs [{esea D. sdrasrs [eree C. Or how shall we gather?
19. ‘RAEiBR &F o’ @1 IRCE (1 fo— D. When the blast of winter appear?
A 72t B. o0 qft 32. "All people dream, But not equally."—Who
wrote the line?
Sobliistn D. WW R A. Langston Hughes B. D. H. Lawrence
20. *erm 7T Towce g % - o e e C. John Keats D. John Donne
A.7w@ B.sfonr C. @f@ D. o 7@ 33. Who is the writer of the poem from September
21, ‘@ R AR — ASweRA FIAE? 1,1939?
A. SRl B. Sfafifer A. W.B. Yeats B. John Keats
C. e D. cefReesat C. W.H. Auden D. Dickinson
22, e e TS W T 34. 'This is the fashion of the day'. Here fashion' is-
A. a pronoun B. anoun
A. TR B. T2 @ C. a verb D. an adverb
C.aqmwramma@ D.Fm 35. What is the best translation of “313% ¥ (3,
23. ‘- B MR~ QMR FA-ANR IIRS JACR? wifR o1 1R/
A. ot e B..37% wtd A. A guilty mind denies the fact
C. ooy = D. Fore Sk B. A guilty mind is never suspicious
24, 57 IS w57 C. I haven't taken banana though I am in the room
A. ST B. wpm D. A guilty .rmnd is always suspicious.
36. Translate into Bangla : Wisdom goes by
Okl DRl learning but not by year.
25. ‘TR T (AR WOTe Y [T HAdw wA? A. TP oS st =3 A
A. (TR FAF (O . w9 B. 7@ 13 % o
B. (TR RGN (IR SR 77 C. TS fes 7z, e W @
C. (TR 31 (TSI SR 7 D. #[ i IR i, g TR 12
D. (TR 73 (S SR 7 37. 'Drive the car at a speed compatible- safety".
26. ‘cArecER ox’ o Ffiret- Which one is the right preposition?
A. T TR 2@ B. SRSRFEN 3 A. for  B.at C.with  D.towards
C. TH W™ D. TR e 2@ 38. The phrase' give a hand' means— '
27w IR — é tt:)) Sst}:;ke hands l};, tt(c)) 1r)e::ltl:c;nd one's hand
A. o fars Sfm - B. OTm e i 39. Which is the correct active form?
C. Mea SR A D. (R W 3w A. It is time to the shop shut down
28. WIMSY (@ (SR, @M (3 AT TG 6@ B. It is time to shut shop
A. FER IR B. itient IR C. It is the shop time to shut up
C. from el D. I 2% D. It is time to shut down the shop
29, e BT LU CAND? 40. The direct speech form for 'He requested
5 that he might be allowed to come in'—
A. O 01 B. Sryfie o1 A.He requfgted me, "Let him allowed to come in."
F‘ AUAURE D. s=igs B. He said, "May I come in."
30. ‘comTE SfbAR R Ryt e TWier- C. He asked, "Let me allow to come in."
A. I TR B. gg D. He asked, "Let me allow to come in."
C. =Y &1 (W% = D. .
2Rb
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41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

S1.

52.

Which one of these sentences is correct?
A. Would you mind closing the door?

B. Would you mind to close the door?

C. Would you mind to closing the door?
D. Would you mind the door close?

Are you looking forward (to see) Rana again?
A.tosee B.see C.toseeing D. seeing
What is the structure of the sentence I was
walking in the morningt'?

A. S + V1 +. Adverbial

B. S + VT + Adverbial

C.S+LV + Adjective

D. S+ LV + Prepositional phrase
'Brochure' is the synonym of—

A. Opening B. Bureau

C. Censor D. Pamphlet
'Equivocal; is the antonym of—

A. Universal B. Mistaken

C. Clear D. Quaint

Turn it assertive4: What a scintillating scene it is!
A. It is very scintillating scene

B. It is a very scintillating scene

C. It is a great scintillating scene

D. It is a greatly scintillating scene
Which one is the correct spelling?
A. Surveillance  B. Sur eilance
C. Sarveillance D. Surveillence
The word 'corpus' means—

A. all the plants of an area

B. a garland of flower

C. a collection of written texts

D. a dead body

Which one is the example of comparative degree?

A.upper B.less C.highest D. worse
Adiba is learning to play
A.a B.the C. an D. none

'This is the pen which I wanted'. Identify the
underlined clause.

A. adjective clause B. main clause

C. main clause D. adverbial clause
Which one is the best analogy for 'Bouquet:
Flowers'?

A. forest : Tree
C. Drift: Snow

B. Woodpile : Logs
D. Mist: Rain

53.

54.

55.

57.

58.

59.

61.

62.

63.

64.

6S.

Who wrote the novel 'Lady Chatterley's
Lover'?

A. Jonathan Swift B. E. M. Forster
C.D. H. Lawrence D. Charles Dickens
What is the pen name of Marry Ann Evans?

A. Evou B. Boz

C. Maxim Gorky D. George Eliot
The characters Prospero, Alonso, and
Antonio are from-

A. The tempest B. Macbeth

C. Othello D. Romeo and Juliet
Who is the greatest modern English
dramatist?

A. Virginia Woolf B. P.B. Shelley

C.S.T. Coleridge  D. George Bernard Shaw
The literary work 'Kubla Khan' is-

A. a verse by W. H. Auden

B. a verse by S. t. Coleridge

C. a verse by john keats

D. a poem by William Wordsworth

The word 'Incest Taboo' is related to-
A.Philosophy B. Archaeology
C. Folklore D. Psychology
If cigarettes were banned, life.

A. Will be healthier

B. becomes healthier

C. should become healthy

D. would become healthy

The 'hyphen' is used—

A. in the middle of a line

B. at the beginning of a line

C. at the top of the line

D. at the end of a line

. YR S_ly

MNrey 1 TRIRZIER wse fer?
A. o=% g’ B. orfeeen Rz
C. s Rz D. R Rz

TR ‘Aot FFrN WIIT' FF A LTS Z7?

A A FTETIIF B. @%b @ Girgnema
C. e W& Tww D. T&a wIiw
AW I ST TaR?

A. of% B. 8o C.cfo D. 6
FAATAT TR AR GARFR or-

A. 3R B.&w  C. Gl D. 3&<i3
‘TS YR RThue I &7

A. Tfigm 73R B. figw 39
C.yTmEzs D. ©t; &

Wd
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66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

FYNGEN AT TR 6T Fq1 T TS ACA?
A. A4y  B. b4 C. b9 D. 3»aa
205 et FoIer wianes =7 w2

A. e B. ¢ft C.aft  D.>ef®
fawt @

A. IR B. g7 C. IR AT D. SRCER AW
ez T3-

A. ch%?n B. g

C. e’ D. @A @O

TR 1S RO RO (et IWR @i THT?
A. TTECF B. e

C. T2ygfefa D. Tfgtazpe

Quantas (IR (TR GURAAIZAT?

A w5 B.wfEawifys C.&@m  D. sl
70 @ e I|IR Am?

A. steifnt B. wtamsa C. Bee@ D, Ffasnz=s
ISERIEEUSERIEIniEEI DA T

A . fss B.3g  C.fewwferam D. mamn
CD-97 wifezs &7

A. FTE B. ImRES C. (e @M D. 1o+ A1%s
LDC a3 oozt 7

A. Last Developed Country

B. Least Developed Country

C. Latest Developing Country

D. Last Developed Community

S A= Raws sy =37

A. Greenpeace  B. Water Aid

C. WWF D. Smile Train
frr o weg T A2

A. TR B. TRETS

C. IR axfy, D. SR

THARa (e fRdfts e T fRasw 3@
FEDRIA (ST HTITER?

A. @9 B.¥ C.390 D.xae

TR AT oMt (@EA TGRS otfe a3 TH Ao
=57

A.Aggscent@ B .AgAa@ycn
C.a@engaAw D.@@IaAx(¢NT

b, 3, ), R\, Y, 83 AR MG Tw?

A. 8 B. 80 C.89 D.85s

Answer Keys: 1.D 2.B 3.D 4.C 5.A 6.A 7.D 8.A
9A 10B11.C12.A 13.C 14C 15.C 16.A 17.B
18.C 19.B 20.C 21.A 22.D 23.A 24.A 25.D 26.B
27.C 28.C 29.A 30.D 31.A 32.B 33.C 34.B 35.D
36.C37.C38.D39.B40.B 41.A42.C43.A 44D
45.A 46.B 47.A 48.C 49.D 50.D 51.A 52.B 53.C
54.D 55.A 56.D 57.B 58.C 59.D 60.D 61.C 62.A
63.C 64.A 65.D 66.B 67.A 68.B 69.C 70.A 71.D
72.B73.A 74.B 75.B 76.D 77.B 78.C 79.B 80.A

10.

11.

12.

13.

i fRgfmges, e

ST IX (FTIN) SfS 1A F1-2058-2059
C-3Tf{T oret
FEM-0

“Ira fare ¢of fage wite, (3@ fAte® i o

fBrre, O A w1 ¢hF gNt IS AT [

Tf&f iR comeFa?

A. S T B. 69 ¢

C. T g C D, 31& wereE TN
ANFAIRT AT IR TIF LIS X BIF 7 377
s fea?

A. N B. 38 C. D.
“HW1 g g IR T, RY @ T3 T - I @RI?
A. T30 I B. fRzdtate
C.lRem® D. 53t W

Al &+ B@w+d C.&§+ew D.oi+a
G frer s
A.%gam B.@WI C.@HRI D. ™S

Modernism- <3 AX®) SRy AR
A. S B. s
- C. wigfem D. g™

“\G51" *%fb WITE (IR T5ATH?
A. @S B.f C.wdR® D, AR AW

IR e gFEA-

A. @t B. RErrs
C. nfEfor= * D @A
e Reerr faa s Fwe ==

A.¥=S B, IrER  C.vgA  D. ormW
'Asylum'- @3 eI =

A. @ B.wem  C.fFm D. W=
T - AT 4Pl @ Ao FAG?

A. 3% + 5y B.,/"q + A

Cw+v¥w  D. 5 +M

Fieert SRy Yy FAH Bom RFwwm?
A.oft B. ¢f5 C.¢% D.sfs

eIy fr Twferes @t wwE s RS
A. 3905 I B. S»0} A
C. Sbod A D. jtoo ATA

Wo
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tifzE ¢ wids 3qMresn Twrat B2

—
AT B C.¥™® D. ™ bl T3TETH
. mf“"ﬁ TR T ’ﬁBB 'wi"f‘_‘;“’m ST F T N S AW 2000-2059
C.RRf@mR D, TOre= IR Tow B-2Tf«% (TB-A)
6. ey <ot T Tm—
A. B 3 R Wi B, TFGE IBW | I - wo
C. 9=’F If= D. gfé (=) 1. R fewsEm 50 -iramy cormTs G feem-
¢7. Ater fAfvew s 3ufo? Aﬁm B.%* C.wer  D. wifees
Leiibe Bycle S CosBl | DIdl 2. wgrmifen RewBa’ Te T T wwsfe?
68, T-TAANR FEWA FI-ALOH T GORE? A. R RS B. fsom arzort
A. 0 &R B. 38 &
C.e&x D. 9o &R &S D. Wi »9
69, TS’ =trem Wl A2 : 3. WIRR R IR 2 & ferE
A T 'B. R g A.Sr@m B uiwfa  C.egfa D TR
C. #3-femn D. @Al 1 4. ‘v Yo WSl CERRA! vifdtety sM-fSame-
70. Bwin’ = - @R Fo™ MI?
A. TRA B. S*Teq NW A GTI AR AVNTS AT B. TFTR doud
C.owaRsa  D. 7% QXS 71 C. TR I T TS I
71. ‘YRS’ g7 Redire >m @FAG? D. 9IfY f¢@wfeR 3=t TR
A TR B.aes  C.9rw DY 5. fAcsw @R AFST R’ FRew?
72. Afae AR T A6 tay? A. ‘OIf2 ST SI%, A F06 TR, I 33 o
A.TT® B mEd C.xA D. B..'a% TR (500 TG I TE-IR] AT
73. ‘TR frme e W~ C. “eTTl, W T Te IR RTTeT
A. T *CR (e St TR B. @@ TR D" : e 2
C. W Firew D. Ayt kil R
6. OWE' I ST (AT WNTS-
74. B WY TR TS TN FA- e
75. ‘TABIZR’ IS ARAT- 7. Agora v w4
A SRIPF e B. IR I ¢ 1M A. =1 B. A C.e5 D, TARW
C. SR e ¢« AR [T D. *ed e I 8. foa M IR Adw-
A. g% B.@ME  C. @RI D. e
76. Wﬁm“?ﬁ" _ pt 9. T T WIREER TR
A. R B. v ¢ D. 1 A EOTME T B. STAA5E IvTH
77. a™ TSR fReR Rdfre st 3uft? ! ;
A. o6 B. 8f% C.ef6  D.u® o . P ETE
78, fm e frew a7 10. R R TaasH Sage?
A. of® B. 8f® C.eft D.u® Aaes B. B C.w@ay  'D.7E
79. ‘R’ a7 wd- 11. ﬁmﬁmmm ¥ > fo—
A.Te¥Z B.T@W C.%a4  D. "m@mmE A.a@en  B.fiss C.@Bf=sm D R
80. ‘W MR IEN7 12. R’ (IR IHYIEE ANH?
A. TR B. @R C. $HREN D. TRRE A. TR  B.¥f® C.wgememt D. 7@
Apswer Keys: 1.A2.C3.A4.C5A 6.A rclmmc 13. 363 TG -
10.A 11.D 12.D 13.D 14D 15.A 16.D 17.B 18. fro
19.A 20.B 21.B 22.D 23.C 24.C 25.C 26.D 27.D g ﬁﬁ z';@ C. DaTiRg
28.B 29.C 30.C 31.B 32.D 33.C 34.C 35.A 36.A | 14. " rrseg =l
37.D 38.B 39.C 40.C 41.B 42.B 43.C 44.C 45.C A.wFfE B.wpm C.We8 D. &
46.B 47.B 48.B 49.C 50.B 51.A 52.C 53.C 54.D | 15. ‘¥ow’ «x R«@s *%.
55.C 56.B 57.A 58.A 59.B 60.C 61.D 62.C 63.B
64.C 65.A 66.A 67.C 68.A 69.A 70.B 71D 72.D i e el i s A e
73.A 74. 75.B 76.B 77.A 78.A 79.C 80.D 61. B | 16. *ci& wrwg" Inturams &g
62.B 63.C 64.C 65.B 66.A 67.B 68.C 69.A 70.A A. afp B. wormd
71.B 72.D 73.A 74.B 75.A 76.B 77. D 78.B 79.C .
80.C C. s D. 9¥o@
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. TS Qo = 8 S =15 9 (I SerE AT 1?7
A. OIS IEA B. O IoHETS
C. 9% OFF A D. TSt
80. A7 vt IRT AR TEAT @ARI?
A gfstair e B. TRRm MRt A
C. “fZatom s D. SRetet

Answer Keys: 1.A2.C3.A4A5A6C7A 8B
9.D 10.D 11.C 12.B 13.C 14.A 15B 16.C 17.A
18.B 19.A 20.A 21.D 22.D 23.B 24.D 25.D 26.B
27.C 28.C 29.A 30.B 31.C 32.B 33.C 34.C 35.C
36.B 37.C 38.B 39.C 40.A 41.B 42.C43.C 44.45.D
46.D 47.C 48.C 49.D 50.B 51.B 52.D 53.C 54.B 55.A
56.A 57.B 58.A 59.A 60.B 61.A 62.B 63.D 64.C 65.C
66.C 67.D 68.D 69.B 70.B 71.C 72.B 73.D 74B 75.C

61.A 62.C 63.C 64.D 65.B 66.C 67.C 68.B 69.C
70.A 71.A 72.A 73.B 74.A 75.C 76.A 77.A 78.B
79.C 80.B

I Ref[{wsiEa

ST T A N oS AWt 205¢-300
B-3TfA5 T GB-A

W S TO Afama- vo
N wo
01. e SrER B @TA{G?
A. Zr=-af¥ e B. I=1-Terfom=
C. Toot-=ienfzaia D. @R 71

02. fAmafe et SrEtg M F571 IFTSH?
A.qEm B.wgs  C.wRfy D #fa
03. Wmmmtﬁam mﬁavﬁ@?

giisbiui g N i

C. SRSEy IR D. I
04. Tt AN TART 377

A. 5 B. sre C.7® D. g9
05. <% e R 7 TW-

A ¥ B. C.d D.

06. ‘WEIR’ *rAfoR % f{vemw @=t?
A. Z+3X B, 9+ C. TRH+TR D, TR+
07. ~TA3A O T/ QA IR AT SOW SF I00-

A.33E B.9¥w C.3IA D. frefE
08. ‘wirw’ oS 1= orErR-
A.wmfR  B.@rfr  C. 3 D. AFS

X1 (5 AT (FH?
® A. FHE+IR ;T?f'iﬁm{ﬂ C. Z+a= D. IF+7oa

10. fATea G FRTIR Tatget?
A. 21 f B. (i I} (A =t
C.mamyBzm= D.fmteaz

11. =gRwMY’ = P

A oM S B. Boum =T
C. Bofie wfuram D. @R 71
12. ‘stiferst’ TR SR *7?
AR B et C.wmfR D. g
13. AT I TS & FRG?
A. 3T T @ @B wfbw AR T AT A6

14.
15.
16.
17.
18.

19.
20.

21.

22

23.

24.

25.

26.

27.

28.

29.

30.

B. wft e AR SR I 15

C. 7f® fire) AT=7a RIC T 157

D. %t iy an=R e aves 1w
@mﬁﬁm%’éw?

A. - B.: D.“”
‘weEr’ WW‘WW

A.9®  B."R C.¥=®  D.3Iww
TG 7 oo =% @EG?

A. R B. 5t C. &= D. e
fRren 1= =G ow?

A. o= B. mwfe C.swffs  D. «raifds
FLAT SIER JTIATIYY (I CEA?

A TR SRS B, XI5 Y W
C. cofdt =mm D. e%fEam =fa

‘TR IR (A2 - GIJAY 3 (FIR(?

A. SfRes B. %@  C. S® D. Gzt
FAEYY 93 -

A.Sf$q€ B. T ZRME C. To7 D. st
@’ AfGIR FHNS (7

A. TSR B. @it 9§ Wi

C. I mrted D. o< 9]

‘Rule Nisi’ & Iteen nfFeifEs wd-

A. SMECSE N WOTT BT OMIAST IEM AMrt
C. =°i¢ 13 D. R
IR IS L7

A. 8 B. ¢ C. v D. s
CEm TR ‘9T T hreR IR o’
(T A (AT ALRYS?

A. AR B. 7RSI @ ST A1F

C. {g=o1at D. sa%ex

‘o wEEE IR IN@ 7o I@ Tt ST

T T T CIR?

A TR B. f&

C. R’ D.

TR (I SR T T e S I8 «n?

A 2 B. f&v C. R’ D. sits

&3 FTA LA A COIE' - (IR SHATK Io7 R

A. QIR &R B. (T &570x

C. I Tmr Az &7

D. T SR G ST

SNSHIIAT A1 AT HAZ I (3?

A. T REH G B. W o st

C. TR Tfs D. SR faw Afzey [etem

S I A7

A. A TSGR B. (ST I

C. N ] D. == fim

‘efea ST Wre AT YR TR AT =¥ | -

Tfeft @ +f=?

A. T3] o4 B. =rq3 arw=

C. ¥q T =@z D. TR Al
English - 30

Read the following passage carefully and answer
the questions (31-35)

Gender discrimination in Bangladesh begins at birth.
Most parents want to have children so that they can,
when they are older, supplement their family income
and/or help with the domestic work. In the existing

B
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socio-economic set-up, mdle children are best suited to
this purpose. So the girls are born to an unwelcome
world. However, they are assigned, rather confined to,
domestic chores. Some of these girls may be at school.
But all their work—domestic or academic — stops as
soon as they are married off, which is the prime
concern of the parents about their daughters.

This discriminatory treatment has some long-term
effects on the body and mind of the girl children and
women in a family. They are given to understand that
they should keep the best food available for the male
members in the family: that they should eat less that
the male members: that they should not raise their
voice when they speak; that they should not go out of
their house without permission from, and without
being escorted by the male members. All these shape
the girls” thinking about life and the world. and go to
establish their relationships with the male members in
the family.

31. ‘Discriminatory treatment’ refers to-

A. treatment that distinguishes between the male
members and female members of the same family

B. treatment of male and female members of the
same family on equal footing.

C. treatment of male and female members of the same
family in a way that creates a sense of
discrimination between the two sexes.

D. treatment of male and female members of the
same family separately.

The central idea contained in the passage above is that-
A. male children are best suited for income-eaming
female children are a burden to their parents.

B. female children are a burden to their parents:.

C. females members in the family should eat less
than the male members.

D. female members in the family are nferior to the
male members.

“Girls are confined to domestic chores” means-

A. girls are not allowed to go out of home.

B. girls are treated like domestic animals.

C. girls have to do only household work.

D. girls have to speak in confidential tone.

The word unwelcome in the third sentence of the

passage above means-

A. unexpected B. uncalled for

C. unwanted D. unpleasant

The ‘inevitable benchmark of the weaker sex’ refers

to-

A. women’s silent acceptance of a inferior status for them

B. a particular place reserved for women in a family

C. benches marked for women in the court of justice

D. women remain modest and reserved.

The number of auxiliary verbs in English is-

A. thirteen B. sixteen C.twelve D. twenty four

‘Blank verse’ is a kind of verse-

A. having no rhyming end

B. having blanks in the verse

C. having no verse form

D. having no rhythmic flow

32.

33.

34.

3s.

36.
37.

| 38.
39.
40.

41.

42,

43,

44.

45.

46.

47.

48.

49.

S0.

Do not talk like that. The underlined word in the
sentence is-
A. preposition B. adjective
‘Symposia’ is a- ;
A. singular number B. plural number
C.both A and B D. none
No spelling mistake occurs in-
A. hideious B. hidious
C. hedeous D. hideous
Which on of the following four is correct?
A. The contemporary astronomer must needs a
digitalised telescope to explore the universe
B. The contemporary astronomer needs a digitalised
telescope to explore the universe.
C. The contemporary astronomer need a digitalised
telescope to explore the universe.
D. The contemporary astronomer needed a digitalised
telescope to explore the universe.
The complex form of “They cried out at the top
of their voice” is-
A. They cried out so loudly that theirvoice weakened
B. They cried out as highly as they expected
C. They cried outas loudly as they could.
D. They cried out as loudly as was possible.
A person who knows many languages is a-
A.polymath B. polytheist
C. bilinguist D. polyglot
Adjective of ‘Butterfly’ is-
A. bovine B. pieridine C. canine D. butterflyne
Meaning of ‘Hitting below the belt’-
A. doing something unfair in a competition
B. striking someone in the abdomen
C. injuring someone fatally
D. beating someone in a competition
The young man was enamored this beguiling woman.
Which preposition is appropriate for the gap of
the sentence above?
A. of B. over C.at D. by
Everything that he did was open and above
board. Which type of phrase is the underlined
part in the sentence?
A. prepositional phrase B. noun phrase
C. adverbial phrase D. adjective phrase
The man who works hard succeeds finally.
The underlined part is an example of-
‘A. adjective clause B. adverb clause
C. noun clause D. independent clause
‘Androcracy’ refers to-
A. a social system dominated by female
B. a social system dominated by male
C. asocial system dominated by democratic values
D. a social system dominated solely by democrats
I was obliged to do it.
The active form of this sentence above is-
A. They obliged me to do it
B. Circumstances obliged me to do it
C. Someone obliged me to do it

D. both A and B

C. adverb D. noun
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